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 D�3� @�Y�� �B0'#: ������� �������� OV� %&� C%���� �)�� Q&Z�� ���01� ��#6�$ pM�� z�)�� �>I O3':

 ��������TCP%���� �a�� *4 .  

2  '� /0
1,����-.�  

AAL  Q$�G��� ./ %'(�� l�)�- m���� �'0k(ATM)  
ACK Oa�� �� ��#�!  
ATM Q$�G�$ ./ %'� l�)�- 

BDP d�;(�� ��4 �)B$ _��� 

BER ���0�� � 
;g� �0�� 

BW d�;(�� ��4 

CE O�vDV � ��� 

CPU �:G���� ���#�� ?3v� 

cwnd  O�vDV � ?>P��) �������� � ?.L�$TCP(  
DA (��|���� M�Y 

DACK %6u�� Oa�� � ��#�! 

DAMA K);�� K�v ��5n c$ D3#�$ M�Y� 

DVB-S %��� �;���� ��&[� �:�:3�P �4�M! 

ECN O�vDV �� �:�� ��)0� 

EIRP ��v�(�$ �xP��$ �#1$ ?�3[ 
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;t)� {$�$- ���5�  
FIN  ��`�B(�� �#;'��) �������� �)�� �TCP(  
FTP m)�� %'� �������� 

G/T O�"()� �xP���� ?����� �6�D U! K���� �0�� 

GSO ��~� U! �0�(��� ?�'���� %������ ��3$ 

GW ����� 

HEO F�(r � 3:3� {�)�)I! {)��� ��3$ 

HPA ��Y5�� ��� ���$ 

HSP G����� %��� ��#$ 

HTML {[�P �� �:�5� �L� 

HTTP {[�P �� %'� �������� 

ICMP  ������ ����� ��������������� � 

IETF ������� ��3(I O�B$ z:�P 
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IPSEC ������� �������� Q$- �������� 
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MF-TDMA ��� D3#�$ �$V ���'�� ?D3#�$ >P�($��DD� 
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PDU ������*)� ���;#$ ?3v� 
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RA {`��14 M�Y� 

RAM {`��14 M�Y� ?���M 

RBP �3#�� J)4 �`�'�� �0Z�� 

rcvwnd  ��0'�� � ?>P��) �������� � ?.L�$TCP(  
RFC  ��'�)#��� J)4 ��5�� ��0)k)������� ��3(I O�B$ z:�P �I�35:(  
RPA ]$#0�� ��Y5�� ���?3� 

RS 3:� ?�Y� �,�$���� 

RTT @���:!� @���IM ��1�� � �[� 

RTTM @���:!� @���IM ��1�� � �[� |��[ 

Rx %0'��$  
SACK {`�'�� � Oa�� � ��#�! 

SCPC �)$�v �6�$ %�� ?3v�� ?�([ 

SSPA �0)5�� ������ ?�3[ *�$ 

ssthres  �x�;� �:�3� �0�4) �������� � ?.L�$TCP(  
SYN 3� �#;[ �($�G�$ �:�) �)���� F�1�� %&#���TCP(  

T/TCP �a$�#�� %6- Q$ ������ � ������ �������� 
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TBF �:G$� �`��D ����$ 

TCP %'(�� � ������ �������� 

TDMA Q$G�� ���'�� D3#�$ M�Y�  
TWTA �)'(�$ ��6�� ���0�- �M *�$  

Tx %��$ 

UDP %&#���� ���;#$ ,��� ��������  
URL  ������D���&)� 3v��� 

VSAT @�36 ?.L� ���Y� ��k V�B6 

WAN ?3�� ��0�  

1.2  �%34 56 �%34 78 #*��  

 %�1�� O3':1������� �������� OV� � ���! %'(� ��01� {#6��� pM�&(��  . ���0�� %���� �)�� Q$ ��01�� m�
���
o�;�� {)&#��$ Q$ j(s� j� �;0��$ ���� .��`�(s %���� �)����� �)�� Q$ m�
��� H�� � AB)  �;N� ������i�~� A 

 �;N����i�~� B C��$�)#&)� ���� �3#$ c$ RAB �)����� BA)  �;N� ������i�~� B �;N�� ��i�~� A ���� �3#$ c$ 
 C��$�)#&)�RAB .( ���;#$ �)�� �'0;� �Y)�� � ������� %&#��� ,- ��~� ���01� Q�9�)%'� l�)�- f- ./ 

 Q$�G�$)ATM ( ����� c$ � �����*�� D3#�$ %:30�� C%���� %�v��� C((MPLS)  

 %�1��1  

�%34 56 �%34 78 � ��� 9-.�8 /0�:  
�� �
� � �� ;�0 � 
<  

  
'� �()*1 –%��� %�� ?3v�� ?GY[ � Ha4- {#6��� pM�&(�� �"(:  . %���� ��'� S�� ���('��� m�� D�: ������� H>I %� � ��������

TCP F�D- j�R o3} TCP%��� %�� ?GY[ %6- Q$ %���� �a���� J)4  . ��GY[ ?34 �;'� U! �;'� Q$ %������ %&1: ,- Q�9 2�- ./
%��� %�� .?D�Y$ �)�� %� J)4 �&(�� �>I Q$ ���('��� z�0;� KW C����� H>I ��.  

2.2   #
��=VSAT  

1.2.2  �1>,�� 
�.�����?  

%�1�� m5: 2  ���� �;� ����0� Q:3�#0�� j)&#���� D34 Q$ ?�D�5�� ������� %���� �B�P ��: �:���#$ �&�(� �)��1�
���� ��0� c$ �I��3� %���.  

 {)��� O�"� 

 �)��BA(RBA)  �)��AB (RAB) 

  
 %&#����1  

��0�  
����  

 �;�  
 ��i�-A 

 �;�  
 ��i�-B 

��0�  
����  

  
 %&#����2  

%���� �)��  
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 %�1��2  
�1>,�� 
�.�����?  

  

2.2.2  ���
��8 
�.�����?  

 %�1�� j0:3%��� �;���� ?���0$ ���� ��;� Q$ p�V %���� �B06�� Q�9 ����1�$ �)��1� .  

 %�1��3  

���
��8 
�.�����?  

  
3.2  2
%,�� @A�! 0
B,��  

 ���01� @�$�� �)s�� Q�� w ,!� �v C@�$�&4 d�;(�� 7:�4 M�Y(�� ���0� %&#���VSAT ��6�����;�� C ���M) �&�(�� f-
����1��� �-.(  

3   �������� ��CD E.��TCP"�

� #*���� � !   

 �������� c�;��:  TCPO�vDV � �)���� F�;^- Q4 �6�(�� F�D~� � q�;r � G���  . � ?���^ f- ,- ���Y�� Q$�
�$V��� %'� �3#$ 7�Yt�� %���� K����:� �'P O�vDV � U! <G#� ��01��.  

 
 �4�&��N 

 �4�&��1 

������� �$�4D 

����� 

 

 �4�&��1  �4�&��N 
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D3¡� |��~� �^ �������� TCP ����)� c:���� ��6��� �� c:���� ������ ?D�4!� CO�vDV � fD�Y�� CF{;0�� F30�� 
O�vDV � � . �������� %&#��:�TCP ������*� ������ ?>P�� �&�� ¢�£ ?>P�(�� zP3� � ������ ���� TCP %0'���� 

�[� � 2��! �)���� ���;#�� ��3'$ � �������j#$  .%��&)� ?>P�(�� 3[ %0'���� Q)#:� . ��v |��'� ?>P�(�� O�'��
%0'���� U! %���� *4 �� S�� ���0��� �&)���� ./ ���;#��.  

1.3   2
%,�� F�! � G8 H�
4BDP  

 d�;(�� ��4 �)B$ _��� D3¡BDP �������� �)���� � ���;#�� ��3'$ TCP" �')¤����) " �)���� ��;�#�� �)��� w Q���
3#� (%$����� �v���� ?�('�� ?�3[ ��&#��  =�M� j#$ �[� � . @���:!� @���IM ��1�� � �[� {I �)B���RTT d�;(�� ��4� 

.��� J)4 d�(�^ � �)�� ?�3[ �I.  

�~� U! �0�(��� ?�'���� %������ ���0� %8$ C7:�#�� d�;(�� ��4 �)B$ _��� ��M �a��)� �0�(���� c�;��� Q� C�
 �������� ��0'��� ?GB6-� ����! ?GB6-TCPO�vDV � ��M /������ d�;(�� ��4 Q$ 3�Y��� ,- ?D�3N� >P��(�� . *�#��

 �������� ?>P��TCP Q$ <�5'�� �:���#�� 65 535 �)����� �&`a$ ./ ��� TCP ������ d�;(�� ��4 ��&#��  ?3�v� 
��)����� ���('�� 7#� J)4 . K�0� D3¡ ?���g� Q$ ����g� ���01�� ��TCP ��D�#��� (1):  

?>P�(�� 3[ 
 J5[~� K�05��= 

@���IM ��1�� � �[�@���:!�  
(1) 

 ?>P�(� J5[- 3[ ��&#��� 3(4� C=�>��TCP Q$ kbytes 64 ,��: C.L�$ @���:!� @���IM ��1��� �[�� %���� �a��� 
{): �&� J5[~� K�05��:  

��3�� 1  
 ��3� I
3J� K��� �CD�RTT  

"�

� ������ L: I
�
A6� I
�
M0 �
��4N� OD� 
(ms) 

K��� �CD�  
(kbyte/s) 

7Yt($ {i�- ��3$ 20~ 3 200~ 

����$ {i�- ��3$ 200~ 320~ 

F�(r � 3:3� {��)I! {)��� ��3$ 600~ 110~ 

��~� U! �0�(��� ?�'���� %������ ��3$ 520~ 120~ 

�()*'� 1 –��1�� � �)B$ |��- J)4 K�¡ 2(��� �`��D �)B$ f- H��0�4� � Ha4- ���>�� @���:!� @���IM ��1�� � �[� >^u:   .  

2.3  +
)�PN� Q�
B�� �9%��� �R���  

 �������� %��$ J'0:TCP��01�� ?�3[ |��'� O�vDV � ?>P�� J)4  .�&�'�� H>I J)4 Oa�� �� ��#��� OV� D34 �5�':� 
)%[- �&B:- %0'���� �;���� �()#�� ?>P�(�� J)4 �- .( �������� %���� F3� 3(4�TCP 3v- J)4 O�vDV � ?>P�� �0Z� C

 �������� c;[TCP . �I�3[ �&�[ J5[- �)0� ,- U! Oa�� �� 3:36 ��#�! %� Oa��� 3(4 ?3v�� �#;'� ?>P�(�� 3:�G���
Kbytes 64 .D�4! �)B$ J)4 %���� J'0:�Oa�� �� ��#�! �$V� �^� ������ ? . F�Z'�� �;���� O�vDV � Q4 m1�:�

������ ?D�4! �)B$ . O�vDV � ?>P�� m5� �&�[ �[u��� %��: C�[u��� �)B$ {Z'(� �$3(4�) F30�� �0�4 �B�)4 z);: S��
F{;0�� (?3v�� �#;[ 3(4 �B;0Z:� . �#;'�� Q$ @�F3� c;'�� %���� %��: =�M 3#��?D�'Y�� . �#;'� O�vDV � ?>P�� 3:G��

F{;0�� F30�� �0�4 �)0� ,- U! 3:3�� Oa�� � ��#�! Oa��� D��� ?3v�� .F{;0�� F30�� ��k �I �>I� . D�DG� C=�M 3#�
 @���:!� @���IM ��1��� �[� %�� ?3v�� �#;'� O�vDV � ?>P��RTT .� O�vDV � ?>P�� � ��;^ ?D�:V U! =�M fDu:� %�
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RTTO�vDV � K(� ��k �B�)4 z);:�  . %�1�� j0:�4 �)����� O�vDV � K(� ��k� F{;0�� F30�� ��k TCP ��;� ) �
 �5�t�� �#: %�1��cwndO�vDV � ?>P�� .(  

 %�1��4  
 ������S� �9%��� �R���TCP+
)�PN� K,T�   

  
 �[��� _�(��:� ���� �3#$ �)0: �v F{;0�� F30�� ���� Q$ l�);��B ��D�#�� Q$ (2):  

   F{;0�� F30�� ?3$ =






 ⋅
+

l
RTTB

RTT 2log1  (2)  

 ¢�vl���0��� ���'«$ �$V��� ��k ����$ {I .  

 ��3�� �i�:�2%������ ����3$ m)�t� F{;0�� F30�� ��k ?3$  �� ���0�� �3#$ ��[ m)�B 3(4 Cl = kbit 1.  

 ��3��2  

"���
�� #���R8 U �V' �9%��� �R��� WR8  

�9%��� �R��� WR8 
"�

�� L: 

 �
��4N� OD�  
I
�
A6� I
�
M0 

(ms) B = 1 Mbit/s B = 10 Mbit/s B = 155 Mbit/s 

i�- ��3${7Yt($  20~ 0,05 0,11 0,19 

i�- ��3${����$  200~ 1,14 1,80 2,59 

F�(r � 3:3� {��)�)I! {)��� ��3$ 600~ 4,36 6,35 8,73 

 U! �0�(��� ?�'���� %������ ��3$
��~� 520~ 3,67 5,40 7,45 

 ���0�� �3#$ U! ����)� F{;0�� F30)� OVa�� �[��� _�(��: %6u�� Oa�� � ��#�! ���� �'0k �M!B����� ��D�#��� :  

  � F30�� ?3$ F{;0� =






 ⋅
+

l
RTTB

RTT 5,1log1  (3)  

�'����� ������ ����'$ ��k- F{;0�� F30�� ?3$ �05� ,- J)4 =�M f�;(:� . 2��3[ %6u�� Oa�� � ��#�! D30: Cb������
F{;0�� F30�� ��k �a^.  

�)B�� F�Z'�� 

�:�3�  
�x�;� 

F�Z'�� �"���  
�)B�� 

 K(�  
O�vDV � 

�:�3�  
�x�;� 

Q$G�� 

O�vDV � ?>P�� 

O�vDV � ?>P��/2 
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{I CO�vDV � K(� ��k � C���;#�� �3#$ ?D�:V��)B�� d�;� ��4 _��� ���D  . ��3'� ���;#�� �3#$ D�DG: c[���� ��
(B.RTT)/1 ��1�� � �[� %� F�(s- CRTT . �������� �)���� ���� �M! Cb������TCP �M!� O�vDV � K(� ��k � �(�#$ 

�):�k ?��Y� �)������ H>I 2)&#��� Q� C��i! d�;� ��4 �P�� .� ��k- �[��� �>I ,����� � ?���^ D�6� ���v 
������ . ��1�� � �[� ��M %���� ���01�� � O�vDV � K(� ���� F�D- ,���� K0��� �>e�RTT � 2($ %[- cY���� 

���� ��0�.  

3.3  XA�
�� Y
.���N�� XA�
�� �
���� W�
!6  

 �������� ��'�0;� %&#��� QI���� �[��� �TCP0:�'� K0��� �[u$ ¬ {) �)0:ms 500@�$�&4  ( ?D�4! ��B$! F�(s-
������ . �������� �)���� c�Z� O�vDV � ���v �� C=�>� ����(��TCP��B$�� ��"��� � �[���  . %�1�� � j0:�1 C

 {'P~� �g�) O�vDV � ?>P�� �&�[ 3(4cwnd (��B$�� ��3v ��"��� � c`�Z�� �[��� . %��:   C�[��� �>I F�(s-�
 ��������TCP?D�'Y�� OV��� ����! 3�#:  � ?3:36 OV� f-  . ?>P�(�� �0Z� C��B$�� ��3v 3(4� C=�M U! �P�i���

?F�Y�� ��01�� %&#��� {�� @���:!� @���IM ��1�� � �[�� ����P 3#� �)������ O�'�� C?3v�� �#;[ J)4 . �������� z0;:�
TCP Renoc:�� ��6����� c:�� ����! ?D�4! ���$V���^  c;'�� ?���^ ���v � �4��� c6���� ,
� �)����)� �&�� 

���G#��.  

�0��$ ./ %0'����� U! �)����� ������� c;'�� ,��� C�#;[ ��01�� �;'�- �M!� . �������� %��$ O�':�TCP ��#�! ����X� 
?D�'Y�� �#;'�� c���� �[� U! @�.1$ %���� U! C�B($ %�� COa��� .�#�! J)4 z);:� � Oa��� ��#�! �>I Oa�� � �

j�t�� . ��Y�� J)4 3�#:� 3'P 3[ Oa�� � ��#�! ,- U! �)­ Cj�t�� � Oa��� ����#�! �sas %���� %0'��: �$3(4�
?D�'Y�� �#;'�� ����! . ?>P�� �&�[ m5� yY¡� Cc;[ �as 3`�V m5(�� ��3'� O�vDV � ?>P�� %���� 7Y­ >`3(4

 O�vDV � �#;[ ��3'� O�vDV � ?>P�� j�t�� Q$ zv  Oa��� ��#�! %�� %���� 3:G:� F{;0�� F30�� �0�4 � ��)�~�
?3:36 �#;[ ����! ���¡� ?3v�� . ��#�! %�� ?3v�� �#;[ ����! %0[ @���:!� @���IM ��1�� � �[� %���� �"�(: Cc[���� ��
2&)��: j�t�� Q$ zv  Oa��� .>� ����(��c:���� ������ 3�#: ���v ���3[ m5� 3(4 ��01�� �)�� %���� J'0: C=�.  

 Oa�� � ��#�! �)��: C?D�'Y�� �#;'�� ����! ?D�4! Q$ 3v�� @���:!� @���IM ��1��� �[� K'4�) 3�4- S�� �'0;�� ,- ����P��
3'Y� w �e���! .(� ?3v�� �#;[ 3(4 O�vDV� ?>P�� ci� Q$ @ 3�� C>`3(4 �������� �0Z: CF{;� F30� O��'��TCP J)4 

F{;0�� F30�� �0�4 3(4 O�vDV � ?>P�� ��Y�� .c:���� ��6��� � ��$V���^ {I H>I�.  

 ��;� c:���� ��6��� �� c:���� ������ ?D�4! ����� �s
��RTT%���� �a���� J)4 26��� S�� =)� ,
� �®
�  .
 � ����#�! ����! ?D�4! D3#� fDu:� ���01�� � ?D�3N� D����� �� Cd�;(�� ��4 � 3:30� U! j�t�� Q$ Oa��

%����.  

4.3   �������� K��� � ! #
���� � Z%[� �\�TCP  

 �������� F�D- ,��:TCP ,��: �$3(4 F�;^~� H>e �����v �8�- ������*��� C�)���� F�;^- D�6� � ,��: �$ -��- 
 *�- ?>P�(�� 3[)� �"�� %�1�5 ( �������� ��&#���� %ZP- K�0� V�¯��TCP ?���^ f- Q$ �)���� °�#�  - KW C

 ���0�� � 
;g� �0�� ,��� ,- KW b������BER�ZYt($ .  
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 %�1��5  

 ��
4 �\�BER �������� K��� � ! TCP  
)RTT = ms 590� B = kbit/s 2 048(  

  

 $� '�2  

 �
���� � ������ �������� 	
� #
�>G,8(TCP)  

1  $��%��� �
&  
J)4 ��(��R ?34 ��^D! Q�9 |��~� �^ �������� TCP �������� �a���� q�;r� ?3v m�Yn %6- Q$ TCP � 

 z�)�� � �6>&(�� =)� ���/ J)4 ���01��1 . �B0��8$� �I�:�G� �&`�[ ci��� ��(������ m��� z�)�� �>I O�':�
%���� ���01�� J)4 �e�&#�� .  

2   `
�a� Lb �������� � #�c�d���TCP  

�3t��� Q�9 �������� � ��.L� ?34 OTCP �������� � ��(��R �- CTCP �a���� � q�;r � ?3v m�Yt�� 
%���� . ������� ��3(I O�B$ z:�P ���[��IETF)( ��'�)#� J)4 ��5�� ��0)k � �'s�$ �Y)�� ��(��R RFC . � D���

 ��3��3 �������� J)4 ��(������� �&`�[ TCP[� �B($ %�� ci�� C �RFC�®�&Z$ m5: @�5t)$� %��'$  . .1: �&�
 %���� �)���� 2�P K0��� f>�� q�;r � 26�- U! ��3��) .0��� d�;(�� ��4 �)B$ _��� �- C,�&��� C��8�� %�0� J)4�

BDP ���0�� � 
;g� �0�� �- BER�#Y����  (j�R %� �;���� �B���5� Q�9 S��.  

{)
#Y�
� K

�05
��

 
(k
b
it
/s
)

 

�)��$ ��� ,��)$ %�� ���0�� � 
;g� 
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 ��3��3  
 �������� � ! #
,�
����TCP 

 �������� e
%f�TCP   
"�

� #*���� � !  � ! #
,�
����  

 ��������TCP 

 K ? �D�
 � ! ��Cg�

#
3� -��� 
 (1)

 (RFC) 
h�1��� 

BDP 
c�� 

 �
%b�
� ���� 

iV 8 

?.0� ����- ?>P�� 2414 

 
 
2581 

�#� �#�   2414 RFC"  �������� ?>P�� ?D�:VTCP ����~� "(1998)  
 ������*� ����~� ?>P�(�� � �} ��&��� ?D�:G�� ,- �'�s��� H>I D3RTCP ?D3� ?3v�� �'0k Q$ @�[a;�� 

 F�IG�kbit/s 4@�0:�'�  .�&(�� �>I Q$ .�L� K��8$� �:�G$ ±[�(� �&�.  
2581 RFC"  �������� O�vDV� � ������TCP "(1999) 

��� c��~� ���$V���g� �'�s��� H>I o�#��O�vDV � � ����)� �B(�� �&�P �;0 : K(�� CF{;0�� F30��
c:���� ��6��� �� c:���� ������ ?D�4!� CO�vDV � . c�;��: m�� =�M Q4 @aZP D3R �&�

 ��������TCP)�� ���(��� @��0�� �):�k D�² ?��P 3#� ������ F3� Oa�� �� ��#��� 3���� z`��k m. 

���:�0�� l��v 2414 �#�     2414 RFC"  �������� ?>P�� ?D�:VTCP ����~� (1998) 

0�� D34 U! @�D�(��� O�vDV � ?>P�� 3[ ���:�0�� l��v ���� 3:G�� Q$ ��#�X� �&)���� �)���� ���:ACK 
~�� �)�����^ <�   D34 J)4ACK�&)����  .��� ,- j0� C%:�;�� ��1�� � �[� ��M ��.�&)� �0�(�

O�vDV � ?>P�(� %8$~� 3'�� U! ����)� OVa�� �[��� 7�Yt�� �&�� �':�;�� H>I. 

 ?>P�(�� _:�3�1323 1323 �#� �#�   1323 RFC"  �������� 3:3�TCP%ZP- F�D- %6- Q$  " (1992)  
 ��3:3� Q$ �4�&� �'�s��� H>I O3'�TCP�  d�;(�� ��4 _��� ��M ��.��� J)4 F�D~� j�R U! ��$���

�4���� �'`�P ��.�$ J)4 d�s�$ %�L1� .P��� ����#�� �)B��� . ������*� ?3:36 �����^ �'�s��� D3R�
TCP �������� c$ �`a��� ��0�� %�L1��� .���� �&&5�� CQ$G�� ��^�u$� �6�3��� >P��()� TCP   

��� z0;:��3:3& .j�Y)�� j���� Q$G�� ��^�u$ %&#���� : |��[�[� @���:!� @���IM ��1�� � (RTTM) 
 �P�Y)�� ��#0���� Q$ �:�&���(PAWS). 
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 ��3��3 )c���( 
 �������� e
%f�TCP   

"�

� #*���� � !  � ! #
,�
����  
 ��������TCP 

 K ? �D�
 � ! ��Cg�

 #
3� -���
(RFC) 

(1) 
 

h�1��� 
BDP 
c�� 

 �
%b�
� ���� 

 8iV 

 ��'0k �0iTCP 2760 �#� �#�   2760 RTC"  �������� ,
1� ?��;��� ��£~�TCP%������� �;0����  "(2000) 

 �3#�� J)4 �`�'�� �0Z��RBP Oa���� ��#�! �0�/ � %&#��� ��('� �I ACK %��$ O�': C%��� 
��'0;� �[u$ �0Z� 206�� ���;#�� TCP ����'�$ %�L1� ?D�4� =�M� j#$ �3#� ACK . D����

 Oa�� �� ��#�! ��- Oa���ACK ����'�$ m�
���� �0Z�� m[��: CACK ������*� TCP�B)&4 .  
 ?.^~� ����� ���:3'� Q$ �0Z�� �3#$ p��(��� Q�9�) Q$ @�[a;�� �- ?3$�^ �)���� F3� ?D�4! 3(4

�8:3v �'��� �a����(- C ��6��^ K����- �;���� �) Q$ �- �;'� U! �;'� Q$ %���� ��0� J)4 ���
.0� ������ d�;(�� ��4 ,- ����P� Q�9 �- C?D3#�$ q�'� U! �;'� .( ,- Q�9 C=�M U! �P�i���

 ��1�� � �[� F�(s- ���;#�� �0i �&�:RTT ������*� j#$ %'(� ��~� TCP ��#Y�� ��&#�� �� 
 �a��)�.5'�� %'(�� ��k! � �v ����#�� �)B��� d�;(�� ��4 ��M . c;'�� �0i Q�9 �&�� C2�- ./
�- F�(s-� ��1��� �[� RTT �������� %&#��: ,- KW CTCP ����� �:���#$ ./ ����- O�vDV� ?>P�� 

%������ J)4 �e���! Q$ @ 3� C{6��g� c;'�� �0Z� ?3:36 .Yt�� �0Z�� ��&#��� Q�9� ��'���� 7�
O�4 %�1�. 

 ��������TCP 

VEgas 
���$ ./ �#� �#�    �������� %&#��:TCP Vegas?3:36 ����! ?D�4! ����� �3#$ F{;� F3�  . F30�� ��$V���^ ���R�

c;')� ?���^ f- � K0���� ,�D �`a�� O�vDV � ?>P�� 3[ J)4 ��8#�� �3#�� F{;0��. 

 Oa�� � ��#�!
 %6u��DACK 

1122 �#�     1122 RFC"  ������� G���$ ��0);�$–� �5� � ��'0k  "(1989) 

 �������� %0'��$ %&#��:TCP � j�&)��$ j�#;'� ��#�! Oa��� Q�9 ¢�£ %6u�� Oa�� � ��#�! 
Oa�� � ����#�! ���v 7�Yn Q�9 ³ Q$� @�#$ ,� .��: 3[ �:�L)� �):�k ?��Y� .^
��� ,- 3�� � K0

 �������� %��$ K��6 U! ������ ?D�4!� �)B�� F�Z'��TCP . ��#�! .^
� O34 %0'���� J)4 KW�
 Q$ �8�
� Oa�� �0,5����s . 
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 ��3��3 )c���( 
 �������� e
%f�TCP   

"�

� #*���� � !  � ! #
,�
����  
 ��������TCP 

 K ? �D�
 � ! ��Cg�

 #
3� -���
(RFC) 

(1) 
 

h�1��� 
BDP 
c�� 

 �
%b�
� ���� 

 8iV 

 Oa�� � ��#�!
 {`�'�� �(SACK) 

 ������*�TCP 

2018  

  

  

  

  

  

  

2883 

 

�#� �#� �#� 2018 REC"  ������*� {`�'�� � Oa�� � ��#�! �����^TCP (1996)   

 �������� °�#: 3[TCP?3v�� ���;#$ ?>P�� Q$ @�[a;�� ?D3#�$ OV� 3'Y� �$3(4 F{� F�D- Q$  . c$�
 �������� %��$ c�;��:   C�&����$ Oa��� ����#�! Q$ ?D�3� ��$�)#$ ����TCP <�� �)#: ,- 

@���:!� @���IM ��1��� �[� %�� ?3v�� �$V� 3'Y� . �$�L$ %��� Q�9� %0[ OV��� ����! ?D�4! ���­ ,-
���(� %#Y��� �&)��� 3[ ,��� ,- Q�9 �e���! 3�4- S�� c;'�� H>I ,- ./ C,��~� . ���� Q�9�

SACKH>I ��5'�� 26�- J)4 K)L��� J)4 34��� ,- C������ ?D�4! ������ ��`�'��� ������ ����'$ C .
 �������� 3�#:�TCP� ��#�! ����! %0'����  ���;#�� ,
� %��&)� @�()#$ %���� U! {`�'�� � Oa�� �

�B$a��� ´ 3[ .�'P ?D�'Y�� ���;#�� c;[ ����! ?D�4! %���� c�;��: >`3(4 .  

2883 RFC"  {`�'�� � Oa�� � ��#�! 3:3�SACK ������*� TCP "(2000)  

 K);)� @�D�3�$� K);�� �>I *�#:2018���^ ��&#��� 3:3���  ��#��� SACK OV��� Oa��� ��#�! %6- Q$ 
�t�(���� . ���g� ��� � ?�3P ��- ��&#��� Q�9 C�t�(���� OV��� �)��� �$3(4�SACK D3#� ?D�P � 

Oa�� � ��#�! �')k- S�� ��#������ . ��#��� ���^ � 3:3&��� �>I �&�:�SACK �������� %��� 
TCP3[ ,�� �M! �&4 � 3�� �� f���i ./ �r J)4 �$V� ����! D�4-  . %��$ c�;��: >`3(4

 ��������TCP ?���^� C@�&�"(� �8�- OV� �x�� � @�k�1� �8�- %�L1�� �$�)#�� H>I ��&#��� ACK� / �-
2���- %0[ ������ ?D�4! ��B$! F�Z'��. 
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 ��3��3 )c���( 
 �������� e
%f�TCP   

"�

� #*���� � !  � ! #
,�
����  
 ��������TCP 

 K ? �D�
 � ! ��Cg�

 #
3� -���
(RFC) 

(1) 
 

h�1��� 
BDP 
c�� 

 �
%b�
� ���� 

 8iV 

 ��������TCP 

Reno3:36  

2582 �#� �#� �#� 2852 RFC"  �)^3�� �a:3#��� �������� �;����Reno c:���� ��6��� � ��$V���^ J)4 3:3�� 
 ������*�TCP "(1999)  

 ��'�)#��� J)4 ��5�� K)k ��;:2581 RFC {`G�� Oa�� � ��#�! O�BY$ )ACK {;L: f>�� 
?���g� o�1��� 3(4 �')#�� ���;#�� ��&� {;L:   2(�� C?3:3�� ���;#�� ( ��#��� �0�/ �SACK .

 ��'�)#��� J)4 ��5�� K)k m5:�2582 RFC C{`G�� Oa�� � ����#�� ������a� ?D3� ��$V���^ 
 .0#�� �B��! ��1: S��Reno3:3�� . 

 �:�� ��)0�
 O�vDV ��ECN 

2481 �#� �#� ��`G6 2481 RFC"  O�vDV �� �:�� ��)0� �P�iX� ����[�(ECN)������� �������� U!  "(1999)  

5: �P�iX� ����[ � mECN��4�Y�� � ���� O�vDV� ��� ci�� =�M� ������� �������� U!  . �&�
 �������� J)4 �e�^D! OG): 3[ S�� �a:3#��� m5:TCP �:�� ��)0� ����! J)4 @��D�[ 2)#� 

O�vDV �� .�(�#$ �$V� 3'P � K0��� G��� J)4 =�M 34��: 3[ C%���� �a���� �� :�;^- �- �)���� F
��01�� O�vDV�. 
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 ��3��3 )c���( 
 �������� e
%f�TCP   

"�

� #*���� � !  � ! #
,�
����  
 ��������TCP 

 K ? �D�
 � ! ��Cg�

 #
3� -���
(RFC) 

(1) 
 

h�1��� 
BDP 
c�� 

 �
%b�
� ���� 

 8iV 

���-��� q�LZ�� 2507      �#� 2507 RFC" ������� �������� ���-� q�LZ�� "(1999)  

 �������� ����-�� ������� ������*� ?D3#�$ ����-� �Li ��Y�� m5:TCP �������� ����-�� 
UDP�;'� U! �;'� Q$ �)�� J)4 ?GY[ %��  .�� z`��;�� z�0;� Q�9� �^ �������� ���-� J)4 �P���

 ��D���� �L�5�� Q$ ����� � |��~�(IPv6) Q$ ������� �������� ����-�� 3:3&��� ����-� J)4� 
 �#����� �L�5��(IPv4) �������� ����-�� TCP ��������� UDP Q$ ������� �������� ����-�� C

�#����� �L�5�� Q$ ������� ��������� ��D���� �L�5���Y)L��  . �������� OV� ����-� �LZ(� ,- Q�9�
UDP �������� �- TCP j� �$ U! 4 U! 7 {'�[3� ��&� =�M � �� ��:�� UDP �- TCP Q$ 2��:��  .

 d�;(�� ��#� ��#Y�� ��&#�� �� �&�:� ?.0��� ������� �������� ����-�� µ)��� �s~� =�M %:G:�
�;���$� �ZYt($ �a���� J)4�4����  . ��)� �r J)4 �B)�L1�� @�5�5^ �&&5$ q�LZ� � ��$V���^�

2P�� ./ OV� ?���^ �3#� �a���� J)4. 

 .�$ o�1���
 ?3v� �;����

 <�5'�� ������
MTU 

1191 �#� �#�   1191 RFC"  .�$ o�1���MTU "(1990)  

 <�5'�� ������ ?3v�� {��$�(:D o�1���� �&�� ��('� m5:MTU.�� {`��14 �����!  . �&�:�
 .�$ o�1���MTU ������*� TCP �- �`G���� �Y)�� %&R ,�D C�$�G)� Q�� 3[ *�- ��&#���� 
c�&���� ?D�4! . �������� O�vDV� ?>P�� 3(���TCP0�� U!   ��;'�� U! ?3:�G��� � Q�� =�>�� ���:

 �������� �a��� @�3[ *�~� ��;'��TCP�� 3[ ?D�:G� 0�� ¢�v Q$ CO�vDV � ?>P� *�- �4��� C���:
�L�~� c;'�� Q$. 
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 ��3��3 )c���( 
 �������� e
%f�TCP   

"�

� #*���� � !  � ! #
,�
����  
 ��������TCP 

 K ? �D�
 � ! ��Cg�

 #
3� -���
(RFC) 

(1) 
 

h�1��� 
BDP 
c�� 

 �
%b�
� ���� 

 8iV 

 .�$ o�1���
 ?3v� �;����

 <�5'�� ������
MTU 

2488 �#� �#�   2488 RFC"  �������� j�RTCP�:���#$ ����� ��&#���� %����� ���([ J)4  "(1999)  

 ?3v��� �;���� .��� o�1��� fDu: ,- Q�9MTU,- %0[ �)B$ U!  �������� Q�&�: TCP F3� Q$ 
���;#�� ����! .�)�1�� H>I �[�Y� U! fDu� ,- Q�9 %������ %B$� . �;���� .��� o�1��� ,- 3��

 ?3v���MTU ?3v��� ��'� d�;(�� c��� �43�� K0�� �[��� Q$ .8��� =)B��:   C����&�� � CMTU 
@�$�&4 .[ F�Y^! fDu: ,- Q�9 C=�M U! �P�i��� ��MTU Q$ .8� � o�1�� � �[� ���V! U! 
� ���. 

T/TCP 1644 �#�  ./
K��($ 

 ./
K��($ 

1664 RFC" T/TCP – � ������� 3:3� TCP��Y�¶��� ��Y������ �a$�#&)�  "(1994)  

 ?��>�� H>I D3RT/TCP0:�� 3:3� C¬ ������*� {TCP�a$�#�� U! �B6��� �$3g� %#6 U! {$�:  
)K);��/������ � (����#P �8�- . b��� ������*�� j� ?��Y�� �9 ,- @��Y)^ �`a��� 3:3&��� �>e Q�9�

TCP ��������� �a������ U! 26��� UDP��Y��$ ���;#$ ?3v� J)4 �`�'�� . 

 
;t)� {$�$- ���5�
FEC 

2488  ./
K��($ 

 ./
K��($ 

�#� 2488 RFC"  �������� j�RTCP4 �:���#$ ����� ��&#���� %���� ���([ J) "(1999)  

 �������� ���:TCP S�� ��01�� ��.�$ =�M � �� C��0� .�$ f- *4 ���;#&)� d�s�$ ��)�� 
%���� ���([ Q&Z�� . �������� ,�� ,!�TCP ���5� �&�: C%���� ���([ J)4 %&#: FEC 

 ������*�TCP�3[ %&#��: ,
� ?���0$ ./ �':�;�  =�M� ����#P �8�- �':�;� ?������ ���('�� ?
 �������� �'0k Q$ l���[ � %0[ �)���� F�;^- ���5��TCP. 

)(1   �5�� �#:RFC O�B$ z:�P H�35: z`�s�� ��'�)#� J)4 ��5�� K)k ������� ��3(I.
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3  X%D 56 $ B�� #
�>G,8  

P �������� z)TCP[ U! ]� �;� �I c;·'�̧6�� �0 c;[ �- �a���� ?34 U! �;'� U! �;'� Q$ ��0� �)���� 2TCP .
 ���� �����$ U! O�4 %�1� �#;'�� ��'��� �)���� %:3#� Q�9 =�M U! �P�i��� C%����TCP {�� %���� �'0k J)4 
%���� �)���� � q�;r � J)4 K)L��� ¹��:.  

c;[ U! z)Y�� �;� z0;:�� %0[ ����� � @�$�&4 / %����� OD�$ 3#� �-)z)Y�� �&(� @�'P� .( �)���� J)4 F�'��� O34 �/��
TCP�: C�^� o�k Q$ � ºP�(� �®! ¢�v ����0�� �Y�¶� ���D! ,�D @�Z#� �BZ#0� ��5� � o�;�� {)&#��$ c�A c�;

 �)����TCP?3�v� .  

1.3   	�-%D 56 $ B�� ��>G,8  

)Y�� ���B($ ��'� �������� �a���� j�#;[ U! zTCPj�#;[ U! �^� o�k Q$  .;� m�� D�:�� ��01�� ��6����
 %�1�� � �':�;�� H>} �;0���� ������*�� ��3���6 . c���� ����'� m�� D�:�TCP �������� j� TCP z)Y�� ��('�� 

 %�1�� � j�#;[ U!7.  

 %�1��6  
	�-%D 56 $ B��  

  

 
%���� �)�� 

��0� ��0� 

 %0'��$TCP ����� 

TCP �^� o�k Q$   
 ��������TCP 2 
d�)Y$  

 ��������TCP 1 
d�)Y$  

 %&#����2  %&#����1 ��i�- �;� 
 �'0;��2 

 ��i�- �;�A  
)����� c$(  

 �'0;��1 

 %��$TCP 

��~� ��0� %���� �)�� ��~� ��0� 
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 �������� %&#��: Cj�#;'�� ��)� ��TCP ��%��$ j� � �5�a� f���#/ %0'��$TCP����0���  . ����0�� �)��� �$3(4�
 �N�i�~� �;�� A %&#���� Q$ ���;#$ �$V� 1 J)4 �#;'�� 1U! �B)����  %&#���� 2 �#;'�� J)4 2 ��#�! 3�#� {BP C

 %&#���� U! Oa�� �1 %&#���� Q$ Oa�� � ��#�! �&)��� 3[ ����0�� ���� �M! �&4 �"(�� 7L� 2 . K)k �I ��L���
 %&#���� �;���� ���;#�� ����!1 �)������ K�0� j���� �&�: �� CTCP�^� o�k Q$  . Q�¡ C�':�;�� H>}�

�0 K� �a������TCP 3v�� H��� � ) %&#���� Q$ ��8�� �>I �1 %&#���� U! 2 .( �':�;�� H>e ����`��� ?G��� Q&���
i�~� �;N� � �'P ���);$ ,��� ����0�� ,- c[�� ��� ������ K��6 J)4 ) f-N�i�~� �;�� A .( �0��($ �':�;�� H>I�

k ��M %���� ���01)� ���^ ?��5����� ��6��� �&�() %�1�� �"��2( �������� K�0� j�R ,~ CTCP @�:���i º�� 
 3v�� H��� � <��) @�36 ?.L� ���Y� ��k V�B6 U! ����`��� �;N� Q$VSAT .( m`�¶� z�0;� *�#: =�M U! �P�i���

@�:D�5�[� Q�� ./ ?3�#0�� ��;N� Q$ 3:3#�� J)4 ����0��.  

%�1��7  
����� �4�
38 ���TCP	�-%D 56 $ B�� ��,3�� Q�
�-'�   

  

 - ( �������� ����! c����TCPf���#��         l (j�'0k U! z)Y)� ������ c����  
  

3  �)������ F�1�! ��k  
2  ���;#�� %'� ��k  
3  �)������ �:�R ��k  

   �)��%����      ���� �)��                   %���� �)��                                           ���� �)��            
  

 %0'��$TCP            %��$         �����   TCP %0'��$   TCP         %��$   TCP 
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2.3  X%D j*\ 56 $ B�� ��>G,8  

 �������� �a���� �as U! z)Y�� ��('� ��'�TCPc;[ �as U! �^� o�k Q$  . %�1�� �i�:�8 ��6�����k 
 ���� c;'�� %&#��� ¢�v Cc;[ �as U! z)Y�� ��('�� ������*�� ��3� =�>�� ��01��) ,��#;'��1� 3 (��� �����

TCP �� %���)� c;'�� z0;� jv � f���#) �#;'��3 (%8$- �������� . �������� c���� D�:�TCP � c;[ �as U! z)Y)� 
 %�1��9 .o�;�� %&#��$ Q$ �&)���� =)� ��"��� Q$ @ 3� ����� �;���� Oa�� � ����#�! 3���� . %&#� C����� H>I ��

��Y&� ����0�� .  

�;�� H>I �� �������� �a���� K�0� Q�¡ C�':TCPjI�� � a� �  . U! �;'� Q$ ���01� �0��($ �':�;�� H>I�
 ������� �$3^ D��$ �)���� %8$ �;'�(ISP)������� ������*� �����~� ��01��� ) . %�1�� �"��1.(  

 %�1��8  
X%D j*\ 56 $ J  

  

 %&#��$1 

��0� ��0� 

%���� �)�� 

TCP 3d�)Y$   

 ��������TCP�^� o�k Q$   

TCP 2d�)Y$   TCP 1d�)Y$   

 ��i�- �;�B  
)����� c$(  

 ��i�- �;�A  
)����� c$(  

 �#;'��3  �#;'��2 �� �#;'1 

 %&#��$2 

���� ��0� %���� �)�� ���� ��0�  
  

 %0'��$TCP       �����            �����          %��$       TCP 



   �������ITU-R S.1711  22

 %�1��9 
X%D j*\ 56 $ B�� ��,3�  

  

3.3  ��D
,8  

 V��� �$3(4 @���� c;[ U! z)Y�� z`��k D�&�4� ,��:RAB� RBA 256 kbit/s .c�&� V����: C����0�� �Y�¶� �1(� �$3(4�1 
 �������� K�0�TCP %70 %���� �)�� ��$�)#$ �3#$ )RAB� RBA %�1�� � 1 ( �0��� jI�� � a� �BER �I�3[ 

8-10 H�3[ @���:!� @���IM ��1��� Q$V� 700 ms . ������*� �(�N� �a����)� D34 J5[- 3&�#:�TCP �)��1� J)4 
 ����0�� ������) ?3v��� �4�� f-CPU��  ?���>�RAM?������ .(  

4  ���a� 	
� F�B8  

 F�D~� j�R ���Y$ %89PEP ������*� @��#[�� @av TCP %���� �a���� J)4 ) �"��RFC 3135"  F�D~� j�R ��Y$
�)����� �0���� q�;r � ?3v m�Yn o3} "(2001) . ��Y� ?D3#�$ q��- 36���PEP�'0k f- J)4 �B'�0;� Q�9 S��  

�������� . ��Y�� z0;:�PEPz�0;� �- %'� ��'0k J)4 ?D�4  . {i�Y$ 7#� %&#:�PEP ���;#�� �)�� �'0k J)4 
������� H>I d�;� � ,�)^3:   �B(��� . %'� ��'0k �"#$ �&5��PEP �������� c$ %4�Y�)� TCP ?3v m�Yt��� 

 �������� �BB6��: S�� l��#��TCP%���� �a���� J)4  . �>I� o�k Q$ z�0;��� � �����*� @�P�Y� *�#: ��Y��
�^� .  

                                                      
1
    K�0� c�&� o�#:TCP �a����� °�� K�05�� ��&� 2�
� TCPo�k U! o�k Q$ ��01�� � . 

 %0'��$TCP  ����0��2  ����0��1 

���� �)�� %���� �)�� ���� �)�� 

�5� � c����c;[ �as Q$ z)P c$ � 

 %��$TCP 
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 z�0;� ,��: ,- Q�9�PEP��P�Y1�� �6�3� @�'P� 2Y�(5� ��:� Cf�¶�(�   �- f�¶�(�  . ��'�0;� ,��� CQ��#$ o�k 3(4�
PEP� %'()� o�;�� q�'�� Co�;�� �&"�- J)4 @�$�� �P�Y� /4 �a:3#� �:- K);��   S�� ��'�0;�)� �-o�;�� �&"�- J) .

 ��Y�� K);: ,- Q�9 C��P�Y1�� �0�/ ���v ��PEP F��6! {)&#��$ Q$ j(s� J)4 �- o�;�� %&#��$ J)4 �a:3#� 
o�;�� .  

 ��&5�� ,�����`� ,����������� 36���PEP : �������� ?����TCP �������� z)P� TCP)  ?�'Y�� �"��3 .( ��)� ��
�:�» �I o3e�P Cj����� 2��M �[��� �� ��01�� ��'� � ?���^ c$ ,�&��� cY��$ %������ ,�&��� �#Y��$ ��01�� c;[ 

��'�0;��� � ��P�Y1�� J)4 F�'��� .  

1.4   �������� � ! "A
����TCP  

 �������� J)4 %:����� -30$ 3(��:TCP .�$ U! )����� ( c;[ Oa��� ����#�! ����! 3�#: �35$ Q$ l�'��� c':
��� �����TCP �������� %��$ ���;#$ ����! %�#: �� C.5[ .�� O�B:��� TCP . ����#�! zP3� ����0�� {L)� >`3(4

?3'�Y�� ���;#�� %���� m�Z�� %����� Oa���.  

2.4   #
��kPEP  

 ����� %&1�PEPN� Oa�� � ����#�!� COa�� � ����#�! 3���� ?D�4!� COa�� � ����#�! ?34�0$ C ������ ?D�4!� C��)
 U! �`�'�� ������ D3#�� �#P�(�� ���&�� q�LZ��� C���-��� q�LZ��� COV��� ����! � ������ U! ��$���� d�Y���� C{)N�

��:���~� .  

3.4   �
1-��
� �%���'� Hl
�,��PEP  

1.3.4  �bm n�? 78 78a�  

 F�D~� j�R ��Y$ c�;��:  PEP�! f- c$ %&#��  ������� �������� Q$- �������� %8$ �Y� ���IPSEC KW ¢�v 
 2�)4,-o�;�� O�"� Q4 ����� ������� �������� OV� 3��� C��'�0;��� 7#� �� C������� �������� OV� ���-� -�':  .

 �'0;�� H>I J)4- �- %'(�� �'0k d�P �#[���� Q$~� ����� ��&#��� Q�9 CO�4 %�1��)�'0k Q$ f- %'(�� TLS �- SSL ( c$
PEP.  

2.3.4  �bm n�? 78 �A�
1�!N�  

 ��&#��� J)4 f�;(� S�� ��:��&#�� �PEP ���3�� �:���� J)4 <�� ��'�0;��� 3&�#�   C) %'(�� � ������ �������� f-
TCP (�^� o�k Q$ ��)���� � �:D�&�4 � ,�&Z� =�M� Oa�� � ����#�� . ��Y�� %^�3�:  �PEP ������*� TCP 

z�0;��� �'0k Oa��� ����#�! c$ O�4 %�1�.   
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 $� '�3  

 �������� 	
� ���� #
�
�D� #��
��b�TCP  

1  $��%��� �
&  

 z�)�� Q&Z�:3 z�)�� � �P����� z`��;�� 7#� K:���� �)'��$ ��x�I ���6- �����[� ����0�^� _`��� 2 �P�:� 
&"�~� {&&5� �&�[ ��$�)#$%���� � .  

2   �������� ����TCP$ B�� 	
� X8   

 ���)��! ��0� Q$ %� �$�[INTELSAT ����� KIDDI �������� F�D~ �����'� ��������� TCP ���('� ��&#���� 
 z)Y��)c;[ �as U! z)Y��� j�#;[ U! z)Y�� (���('��� H>I ����#P <3$ Q$ z'��)� .����'�� H>I _`��� FG�� �>I �P�:�� .  

 ��'�� O3':�1.2 ������*� ?3v�� �)���� F�D- ��0�^� _`��� TCP ��'�� Q&Z�:� ����� f- ,�3� 2.2 ��('� ��0�^� _`��� 
j�#;[ U! z)Y�� . ��'�� D��:�3.2c;[ �as U! z)Y�� ��('� ��0�^� _`���  .  

1.2   �������� � ���� ���� �
��b�TCP7o
� Q� h�� WR)��   

1.1.2  �
��b� �������� � ���� ���� TCPWR)��   

 �)���� K�0� ����0�^ � Q$ �4�&� ��- ����(�TCP?3v��  . ,�3� �- ������*�� ����� Q�R c$ ����0�^ � �:�6-�
 H�3[ @���:!� @���IM ��1��� �[� c$ ������*�� ����� j�R200 ms �)���� {��¡ CWAN� C���� 700 ms {��¡ C

3($ %���� �)������ �����- ��0� � �� .  

2.1.2   ��������TCP���a� 	
� h�R�   

 �a���� ����0�^ � Q$ �4�&� ��- ����(�TCPF�D~� j�R ,�3� ?3�v�  . 3(4 %�&#�� ?>P�� 3[ �0i�8 kbytes 
 J)4 
;g� �0i z��;� �&�� =�M�Windows 95 CWindows 98 CWindows NT %�L1��� �&"�- Q$ �I./�  �#`�1��

<�^~� . @���:!� @���IM ��1�� � �[� �0i�RTT 3(4 ��~� �)��� 200 ms%���� �)����� / 3(4 ��~�700 ms.  

3.1.2   � ���� ����TCP���a� 	
� h�R� WR)��   

 F�D~� j�R ,�3� K�0� J5[- �)0:320 kbit/s� ��~�� �a����)� 91 kbit/s %���� �)��� ) %�1�� �"��10 .(� j0�
 �)����� J5[~� K�05�� ,��: CF�D~� j�R ,�3� 2�- _`��(�� H>ITCP C?>P�(�� 3'� @�0:�'� @�:���$ ?3v��   

  kbit/s320
ms200

bits8kbytes8
=

=

⋅

RTT
 

�)���� �3#$ ?D�:V ��6 �M! �v.  
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 %�1��10  
 � ����TCPR� "�

�� F�a
� #*�� � ! WR)�� 	
� h�  

  

2.2  	�-%D 56 $ B��  

1.2.2  "�

� #
��= � ����  

j�#;[ U! z)Y�� ���('� ����#P <3$ Q$ z'��)� ������� ����0�^ � �:�6- :  

� ��0�^ A:   O�"� ��&#���� °�3�$ |��[VSAT%���� �)�� J)4 {'�'v   

 ��0�^ �B:  %���� �)��� {��� ��&#���� |��[  

1.1.2.2  �
��bN�A- : +
(4 �
1-��
� q�R�8 `
�DVSAT"�

� � �� � ! 93�3)   

��0�^ � F��6! ´A- K);�� K�v ��5n c$ D3#�$ M�Y� ��&#���� DAMA��0� J)4 O�':  %���� ������� �������� 
;�� �)$�v �6�$ %�� ?3v�� ?�('� ��6���(�� ��&#���� ����1�$ ��6����(SCPC).L�$ K�05�  . |��[ ��0�^ � %¼�

 �)��TCP �a����� C�)���� � 3#$ m)�t� ?D3#�$ �)����� ?3v�� UDP �a���� Q$ ��)^� UDP� TCP .
 %���� ��0� ��&#���� ��0�^ � f�6-� �L)� �)�� � 3#� f�¶�(� %����� f�¶�(�  kbit/s 384� kbit/s 1 536   

�kbit/s 2 048 .  

��0�^ � � �)&#���� ��01�� D���A- %�1�� � 11 . %���� ��01�� m�
���DAMA ���([ � ����)� ��~� �;� Q$ 
 @�36 ?.L� ���Y� ��P�k ?GB6- �#��-� ������VSAT . V�B6 %� D�V�VSAT  U! z)Y�� ��('� �;���� �;1($ ����0�

{$�$~� H�� � K�0� j���� j�#;[ . ��3�� � j0��4 V�B6 %�� ����`��� ��Y����� VSAT . ´ 2�
� .�>��� �3W�
 �����0�� Q$ j;� ��&#���) �&(��1 �&(��� 2 (��0�^ � �>I � jY)�� j#`�� Q$ . .��� c$ �&&5$ %���� �)�����

� �)0: �)�%99,9 j� VSAT� HUB� C%99,85 j� VSAT� VSAT.  

 K
�05

��
(k
b
it
/s
)

 
 

�63($  
  

 �)���� �3#$(Mbit/s) 
  

����  
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 %�1��11  
 �
��bN� ".� 78 �
��bN� ���= � ����–A  

  

 ��3��4  
 F�a� �%s #
B���8VSAT  

��t�� �%s 9l��u� RD W�RDSSPA  (w)  �CD� �
��v� �R-8
(kbit/s) 

 �������� ����� +RwTCP 

����)� ��i�- �;� 7,6  N/A N/A N/A 

VSAT-A 1,2 10 384 Type-1 

VSAT-B 1,2 40 1 536 Type-2 

VSAT-C 1,8 40 2 048 Type-2 

VSAT-D 1,8 120 2 048 Type-2 

 

��t�� �%s "�d���� +
(4 �Ax��'� �y
-'� WR)� W���z�� 
(Mbit) 

$��%��� 

VSAT-A FreeBSD 4,3 Pentium III 1 GHz 256 Iperf 1.1.1 

VSAT-B FreeBSD 4,3 Pentium III 1 GHz 512 Iperf 1.1.1 

VSAT-C FreeBSD 4,3 Pentium III 1 GHz 256 Iperf 1.1.1 

VSAT-D FreeBSD 4,3 Pentium III 1 GHz 512 Iperf 1.1.1 

NTP server Windows 2000 Pentium III 600 MHz 256  

  
��~� U! �0�(��� ?�'���� %������ ��3$ � %��� 

 {5t� l���v
,��G)� 

OD�$ 

OD�$ 

OD�$ 

OD�$ 
 {5t� l���v

,��G)� 
� l���v {5t
,��G)� 

 {5t� l���v
,��G)� 

O3� 

 ��i�- �;�
���('�� � ����)� 

Tx J5[-   
 =kbit/s 2 048 

Tx J5[-   
 =kbit/s 2 048 

Tx J5[-   
 =kbit/s 1 536 

Tx J5[-   
 =kbit/s 384 

ES: 

TCP-GW: 

��i�- �;�  
 �������� �����TCPj�#;[ U! z)Y�� ��('� ��&#����   
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 %�L1� O�"� K��:�FreeBSD 4.5 O3t� =�M 3#� %��: ³ C,��G)� {5t� l���v %� J)4 NTP Q$�G�: {�� 
{5t� l���v %�� ��[���� .%� D�G:� V�B6 VSAT ����*� Iperf

2 |��[� ������� �������� OV� 3����� �&�: 
K�05�� .  

2.1.2.2  �
��bN�B- :"�

� � ��� 9�
s �
1-��
� `
�3��  

��0�^ � F��6! ´B-� F�;^- p�3]� ,- Q�9 ���;#$ �)�� {��� ��&#���� �;'� U! �;'� Q$ �)��1�� ���('��� �)B� .
 %6- Q$ K�05�� |��[ ��0�^ � %¼�1� 2� 4� 8 ������*� �($�G�$ �)���� TCP �Y)�� �)�� � 3#$ c$ ) j� ������

kbit/s 384� kbit/s 1 536 ( ���0�� � 
;g� � �v m)�� {��R)8-10 �7-10� 6-10� 5-10{`��1#�� 
;g� C/ %�� 
;g�
�'�� (�ms 250�1��� Q$V  %����� �)3v�� H��� � .( G�B� ��&#��� ,�3�� ��&#���� K�05�� |��[ ³ C����'�� ���/~�
����0�� .  

 %�1�� � ?*�t�� ��01�� D���12 �;'� Q$ ���0� J)4 %���� �)�� o��¶ �s- ?���N ���;#�� �)�� {��� Q&Z��� C
�;'� U! .)��$ ��� �;� ���;#�� �)�� {��� %&#��:� �)�� {��� µ��6 J)4 j0��$ j4�Y$ D�6� � C%�

��0�� �;��� m����� ���;#�� . %�L1��� O�"� z�0;�� ,��G)� ��5t1�� K������ O�'��Microsoft Windows 2000 

(SP2) O�"� z�0;�� O3t&)� {5t1�� l����� O�':� Microsoft Windows 2000 (SP2) �- Linux �L�5�� Q$ 2.4.7.  

%�1�� 12  
 �
��b*� � 1-�
'� �
��bN� ���= � ����B  

  

2.2.2  �
��bN� Hl
�4  

1.2.2.2  �
��bN�A-  

��� O�: � �#��~� ����0�^ � �:�6- .������� ���'Y�� � _`��(�� O3'�� :  

 �  �������� �)����UDP)  ?�'Y��1.1.2.2.2(  

 � *� ?3v�� �)���� ������TCP/ ������� ��������) ?�'Y��2.1.2.2.2) ( �"va�� �"��1( 

                                                      
2    Iperf������� �������� �$V� K�0� |��[� ����� 3����� z�0;� �I  . �L�5���1.1.1 Q$ Iperf ,��(#�� Q$ 2):G¬(� Q�9 °�� _$���� 

b���� : html.release/.1.11Iperf/Projects/net.nlanr.dast://http. 

 

 ,��G��� 2  
iperf 1.1.1 

Windows 2000 

 ,��G��� 1 
 ��Y$  

Cisco2500 

 �0[��$ O�"�
����� 

 �)�� {���
���;#��  

ADTECH SX12 

 ��Y$  
Cisco2500 

 j�#;[ Q$ �����
 ������*�TCP 

O3t�� � 1 

 O3t��– 2  
Linux 2.4.7  

 �-  
Windows 2000  
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 �  ������*� ?D3#�$ �)����TCP/ ������� ��������) ?�'Y��3.1.2.2.2) ( �"va�� �"��2( 

 �  �������� ?��DTCP ?3v�� )%60�)���� �3#$ Q$  ( �������� ?��D�UDP) %40�)���� �3#$ Q$ ) ( ?�'Y��
4.1.2.2.2()  �"va�� �"��2.( 

 �()*'�1 {  ����3�� D344 3v�� {5t� l���v J)4 . ?GB6- 7#�VSAT ����D c��- F�1�! c�;���   IP/TCP@�#$ ,� �  .  

 �()*'�2 {  �������� �)���� � |�'�� K�05�� � ���Y:UDP �������� ?��3� K�0� J5[- ,��: ,- TCP.  

����� �s- K6���� ��(�� J)4 yv�� ´ ¢�v C����0�^ � c�A ���k j�#;[ U! z)Y�� ��('� Q4 �6�(�� ����0�� J)4 Q
 Q$ �8�- H�3[ K�0� J)4 ��5��%95K�05�� J5[- Q$  .  

1.1.2.2.2   �������� � ���� Hl
�4UDP  

 ��3��5  
� ���� �R-8 :kbit/s 384L���'� | :kbit/s 360,2 (%93,8)) ��J
t6 #
�%-8 h�R�(  

 �
����)  R,! � ���� �R-8 L�}Akbit/s 384( 

 VSAT-A 
(kbit/s) 

VSAT-B 
(kbit/s) 

VSAT-C 
(kbit/s) 

VSAT-D 
(kbit/s) 

VSAT-A  365 365 365 
VSAT-B 345  365 365 
VSAT-C 346 365  365 

 �
�3��N�  
(kbit/s 384) 

VSAT-D 346 365  365  
  

 ��3��6  
� ���� �R-8 :kbit/s 1 536��'� |L� :kbit/s 1 397,5 (%95,5)) ��J
t6 #
�%-8 h�R�(  

  �
����) R,! � ���� �R-8 L�}Akbit/s 1 536( 
 VSAT-A VSAT-B VSAT-C VSAT-D 

�
�3��N�  
(kbit/s 384) VSAT-A   kbit/s 1 463  

  

 ��3��7  
� ���� �R-8 :kbit/s 2 048L���'� | :kbit/s 1 947,5 (%95,1)   

  �
����) L�}A R,! � ���� �R-82 048 kbit/s( 
 A) 384 kbit/s( B) 1 536 kbit/s( C) 2 048 kbit/s( D) 2 048 kbit/s( 

�
�3��N�  
(kbit/s 1 536) VSAT-B   1 946 kbit/s 1 949 kbit/s 
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1.1.2.2.2   �������� � ���� Hl
�4UDP  

 ��3��8  
� ���� �R-8 :384 kbit/sL���'� | :349,2 kbit/s (%96,9)) ��J
t6 #
�%-8 h�R�(  

  �
����) R,! � ���� �R-8 L�}A384 kbit/s( 

 VSAT-A 
(kbit/s) 

VSAT-B 
(kbit/s) 

VSAT-C 
(kbit/s) 

VSAT-D 
(kbit/s) 

VSAT-A  359,0 359,0 359,0 
VSAT-B 327,8  358,5 358,3 
VSAT-C 328,0 348,3  357,8 

�
�3��N�  
(kbit/s 384) 

VSAT-D 328,0 358,5 348,3  

 ��3�� j0:8����D c���� ������ . 

  

 ��3��9  
� ���� �R-8 :1 536 kbit/sL���'� | :1 397,5 kbit/s (%95,5)) ��J
t6 #
�%-8 h�R�(  

 �
����) R,! � ���� �R-8 L�}A1 536 kbit/s( 
 VSAT-A  

)384 kbit/s( 
VSAT-B 

)1 536 kbit/s( 
VSAT-C 

)2 048 kbit/s( 
VSAT-D 

)2 048 kbit/s( 
�
�3��N�  

(kbit/s 384) VSAT-A   1 397,5  kbit/s  

 ��3�� j0:9����D c��- <3$ J)4 ������ . 

 ��3��10  
� ���� �R-8 :2 048 kbit/sL���'� | :1 890,1 kbit/s (%97,1)) ��J
t6 #
�%-8 h�R�(  

 �
����) R,! � ���� �R-8 L�}A2 048 kbit/s( 
 VSAT-A  

)384 kbit/s( 
VSAT-B 

)1 536 kbit/s( 
VSAT-C 

)2 048 kbit/s( 
VSAT-D 

)2 048 kbit/s( 
�
�3��N�  

(kbit/s 1 536) VSAT-B   1 888,3 kbit/s 1 891,8 kbit/s 

  

3.1.2.2.2   �������� � ���� Hl
�4TCPW�R-�8   
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 ��3��11  
� ���� �R-8 :1 536 kbit/sL���'� | :1 370,5 kbit/s (%95,5)) ��J
t6 #
�%-8 h�R�(  

 �
����) R,! � ���� �R-8 L�}A1 536 kbit/s( 

 VSAT-A  
)384 kbit/s( 

VSAT-B 
)1 536 kbit/s( 

VSAT-C 
)2 048 kbit/s( 

(kbit/s) 

VSAT-D 
)2 048 kbit/s( 

(kbit/s) 

VSAT-A 
)384 kbit/s(   

360 
358 
345 
345 

338 
337 
329 
329 

�
�3��N� 

Y�1~�   1 408 1 333 
  

 ��3��12  
� ���� �R-8 :2 048 kbit/sL���'� | :1 910 kbit/s (%98,1)) ��J
t6 #
�%-8 h�R�(  

 �
����) R,! � ���� �R-8 L�}A2 048 kbit/s( 

 VSAT-A  
)384 kbit/s( 

VSAT-B 
)1 536 kbit/s( 

VSAT-C 
)2 048 kbit/s( 

(kbit/s) 

VSAT-D 
)2 048 kbit/s( 

(kbit/s) 

VSAT-B 
)1 536 kbit/s(   

759 
597 
562 

680 
565 
657 �
�3��N� 

Y�1~�   1 918 1 902 

4.1.2.2.2   �������� #���� ������ Hl
�4UDP ��������� TCP  

 ��3��13  
 ������S� WR)�� � ���� 78 ������TCP (%60)� � �����  ������S� WR)�UDP (%40)  

 �
����)384 kbit/s( 

 VSAT-A  
)384 kbit/s( 

VSAT-B 
)1 536 kbit/s( 

VSAT-C 
)2 048 kbit/s( 

(kbit/s) 

VSAT-D 
)2 048 kbit/s( 

(kbit/s) 

�
�3��N� VSAT-B   1241 
687 

1102 
841 

J)4~� m5�� : �������� �)����TCP½D~� m5�� h : �������� �)����UDP. 

2.2.2.2  �
��bN�B-  

��0�^ � _`��� O�3'�B- Q$ ����~� � 13 U! 17 . �������� ����D �;� � ?D����� K�05�� ��[�TCP 1� 2� 8 {I 
 �������� ����D c�A K�0� ��&�TCP . U! z)Y�� ��('� Q4 �6�(�� ����0�� J)4 Q����� �s- K6���� ��(�� J)4 yv��

� c�A ���k j�#;[����0�^  .  
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 j)�1�� Q$ yva: �&��13� 14 ?��3� J5[~� K�05�� �5�': CIP/TCP �r J)4 kbit/s 200 ��1(� O34 ���v � 
����0�� . j���3�� ���v � C��8�� %�0� J)4�TCP)  %�1�� �"��14( K�05�� b�A! �5�': C) ����� ,�3�TCP ( �r J)4

kbit/s 400 .��v � C<�^- ��v�� Q$� �8 ����D TCP)  %�1�� �"��15( K�05�� b�A! �)0: C) ����� ,�3�TCP (
Mbit/s 1,5 � ��� j� ¾��)$ oa�^� f- yva:  � @�0:�'� " ����� ,�3�TCP " ��" ����� D�6�TCP."  

 �0�(�� ��Y��� c$�BER)  f-BER = 6-10 ( %�1�� � j0$ �I �&� Q����� �s- 7Yt(:16 .  

 %�1��13  
��4 WR)�� W��� �>TCP (

8-
10=BER)  

  

 %�1��14  
 	���R� �>��4TCP (

8-
10=BER)  

  

 ����� ,�3� ��1��� �[�  TCP  
 ��1��� �[�(ms 250) ����� ,�3� TCP  

 ��1��� �[�(ms 250)� c$  ����� D�6TCP 

 �)���� �3#$(kbit/s)  �)���� �3#$(kbit/s) 

 �:
�#$
 K

�0�
(%
)

 

 

 ����� ,�3� ��1��� �[�  TCP  
 ��1��� �[�(ms 250) ����� ,�3� TCP  

 ��1��� �[�(ms 250) ����� D�6� c$ TCP 

 �)���� �3#$(kbit/s)  �)���� �3#$(kbit/s) 

 �:
�#$
 K

�0�
(%
)

 

 K
�05

��
(k
b
it
/s
)

 

 K
�05

��
(k
b
it
/s
)
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 %�1��15  
 #���� q
1�� �>��4TCP (

8-
10=BER)  

  

 %�1��16  
 	���R�� Hl
�4TCP) BER = 7-

10 |6-
10(  

  

 

 ����� ,�3� ��1��� �[�  TCP  
 ��1��� �[�(ms 250) ����� ,�3� TCP  

 ��1��� �[�(ms 250) ����� D�6� c$ TCP 

 �)���� �3#$(kbit/s)  �)���� �3#$(kbit/s) 

 �:
�#$
 K

�0�
(%
)

 

 K
�05

��
(k
b
it
/s
)

 

 

 ����� ,�3� ��1��� �[�  TCP  
 ��1��� �[�(ms 250) ����� ,�3� TCP  

 ��1��� �[�(ms 250) ����� D�6� c$ TCP 

 �)���� �3#$(kbit/s)  �)���� �3#$(kbit/s) 

 �:
�#$
 K

�0�
(%
)

 

 K
�05

��
(k
b
it
/s
)

 

7-10=BER 6-10=BER  
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 %�1��17  
 WR)�� W��� Hl
�4TCP#
3=��� � �B �w �
%b� ��
) �   

  

3.2.2  #
.
�,��N�  

 �������� K�0� |�&)$ %�1� Q�R ,- Q�9 j�'0k U! z)Y�� �':�k ,- _`��(�� j0�TCP ,���� %���� �)�� J)4 
 �0��BER 7-10=�M Q$ %[- �-  . F�IG� z��;�� b�A�� K�05�� F�D- J)4 ��5�� ´�%95���� c$ ?�3'�� Q$  ?3v�� �)

� j�)�����8 �a���� TCP%���� ��0� ���v � ,
1�� �I �&� C��1��a� %:�k �[� D�6� � �($�G�$  . U! �P�i���
f�¶�(� � f�¶�(� %���� ���01� �0��($ j�#;[ U! z)Y�� ��('� ,- ��i�� <�6 C=�M .  

$~� ���&�� ,V���� O�"� z�0;�� j�#;[ U! z)Y�� ���('� �&��� K(��� =�M� %��� c;[ J)4 c'� �a���� J)4 %8
 �������� ����! ?>P�� J)4 l�);�� ./ q�;r �TCPO�vDV � fD�Y� ���$V���^ �;����  . �>I ���&�� ,V��� O�"��

 �������� o�k {$3t��$ j� ���� ���8� ����0�� ��G�B� %&#� ¢�v Q��TCP.  

3.2  X%D j*\ 56 $ B��  

1.3.2   ����"�

� #
����� �  

 %�1�� � ��0�^ � ��0� D��18 . ��01��� %���� �)���� o��¶ ��s� ,�GY¡ �)���� ?���� ��G�B� Q$ ,�(s� Q&Z�� {I�
� �����~� ���� ����� . ��Y��� ��~� �)�� ��1��� �[� {��� p�3: w CK��P %���� �)���� o��¶ *�n �&���

Cisco 7206��01�� �  .´�������*�� ����0� ������ ���s�� %:30�� ?���0$ ,��G�� ��� %����  .  

 {I O3t��� ,��G�� � �� UltraSPARC-II 296 MHz)×Sun Enterprise 450 (2  Q$ ?���>� ?D�G$ 2 048 �:���L�$ 
 %�L1��� O�"� �:3�Solaris 7 . %�&#�� z�0;� %&#���� ����&�� 3��� ,��G��  .  

 K�0�TCP)  ������ =%99(   K�0�TCP)  ������ =%100(  

 K
�05

��
(k
b
it
/s
)

 

 K
�05

��
(k
b
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)

 

 ��1��� �[�(ms 250) ����� ,�3� TCP  
 ��1��� �[�(ms 250) ����� D�6� c$ TCP  

 

 �)���� �3#$(kbit/s)  �)���� �3#$(kbit/s) 
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 %�1��18  
��
��bN� ���= � ���  

  

2.3.2  �
��bN� #���.6  

����� �����#P <3$ Q$ z'��)� %'��$ ��0�^� F��6! ����0�^ � �P3B��� C�Y)�� %�&R o��¶ %¶ � ������*�� �
 �������� �)���� � 3#$�TCP%���� �)��� {;� ��k! � 
;g� � 3#$� C . CQ��#$ %��� o��¶ GYv U! �P�i����

 O34 ���v� �� �������� ����� D�6� � �^� o�k Q$ K�05�� J)4 ������� O�vDV� ��s� � @�Z:- ��0�^ � ¢£
�ID�6� .  

-�����0�^ � Q$ q��- �sas �:�6 :  

 ��0�^ �1: �)�� K�0� TCP �)��� �Y)�� d�;� ���4~ ?3v��   

 ��'�0;�� �4���� �'`�P ��)N� �';(�� ��0� ?���N ����0�^ � H>I �&&��Internet-2 ����4 �4��� %'(�� *�#: ¢�v 
����'� =�M� C�#`�1�� ��$~� Q$ �&tZ�� ���;#�� ��Y)��ID�6� O34 ���v � �- �������� ����� D�6� � F�D~�  .  

 ��0�^ �2 : �a����TCP ����s �)���� %�� d�;� ��4 c$ ?D3#�$   

 �a��� ������*�� ����� F�D- cP�($ ����3� ����0�^ � H>I �&&�ISP ?.L� �a���� ?34 �43� S�� TCP .
@���:!� @���IM ��1��� �[�� ����0�^� �:�6-� Q$ ms 200 ��0� �)�� ?���N WAN� C���� ms 700 ?GY[ �0���� ?���N 

 Q$ %��� %��ms 500� ����� � �����~� ��01�� U! %&#���� Q$ @�[a;�� ms 200O3t�� U! ����)�  . J)4 @���v�
 j����0�� 36��� c$ C?3v�� �;'� U! ���0�� � F�;^-� �^
��� F�;^- �Y�i- C���0��� {��� K���6 Q$ K��6 %� J)4

�)���� .  

 ��0�^ �3 : �a����TCP ��~� OV� ?���^ c$ ?D3#�$   

�� �'����� ����0�^ � c���� <�6� { 7L� C����� � �����~� ��01�� *4 F�;^~�� ��1�� � �[� ��s� K8� Q4 |�3
%��� %�� ?GY[ Q4 �"(�� . o��¶ ?���N =�M� �^� �)�� {��� m�i-���~� o��¶� %����� . %�� ?GY'�� �;0i�

 H�3[ @���:!� @���IM ��1��� �[� 3(4 C����0�^ � H>I %6- Q$ C%���ms 500 ��01�� �)�� �;0i� CF�;^- �:- ,�3� 
 �I�3[ �)B$ 3(4 �����~�ms 200�Y)�� ?���^ � 3#$ c$  .  

��1�� � �[� {���  
)��~� �)��( 

���Y$ 

���Y$ 

���Y$ ���Y$ 

�����  
)c;[ �as( 

HSSI 0 HSSI 1 
���Y$ ���Y$ 

 ���Y$(R2) ���Y$ (R1) IDSU/CSU IDSU/CSU ��1�� � �[� {���  
)%���� �)��( 

�����  
)�asc;[ ( 

FE1 FE1 FE3 

 �"va��1 –" ���Y�� "�� ���Y$ %89s Q$ ���Mbit/s 100 

 l�����
 {5t1��,��G)� 

 l�����
 {5t1��,��G)� 
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3.3.2  �
��bN� Hl
�4  

1.3.3.2   ��������TCP� ����� 	
� X8 ������S�  

 �)���� %6- Q$ ������*�� ����� H�P�� f>�� F�D~� j�R ����0�^ � Q$ ������� �4�&T� ���DTCP?3v��  . j0:
 %�1��19 H�3[ @���:!� @���IM ��1��� �[� %6- Q$ �)���� d�;� ��4 ���D 2Y��� K�05�� ms 200 K�05�� ����'� =�M� C

����*�� ����� ��&#���� |�'�� ������*� J5[- f�"� K�0� c$ ��TCPQ��� ./  . %�1�� j0:�20 ����0�^ � _`��� 
 H�3[ @���:!� @���IM ��1��� �[��ms 700.  

 �À�3[ ��1��� �[�� j���v ��ms 200� ms 700 %ZP- ������*�� ����� ��&#��� Q$ �)5���� _`��(�� ,- =� Q$ �$ C
~� f�"(�� K�05�� Q$ ��8$- ?34 ������*� J5[TCP . H�3[ ��1��� �[� c$ �v�ms 700 ������*�� ����� �&�� C

������ d�;(�� ��4 %$�� Q$ ?D�Y�� �� �)����)�.  

 %�1��19  
 �������� � ����TCP������S�� ����� 	
� X8 F��� � �� � ! WR)��   

  

  

 K�05��(kbit/s) 

|�'$  
f�"�  

d�;(�� ��4 :Mbit/s 45  
Mentat :�;�1�  
 �4��Sky X :Mbit/s 43  

@���:!� @���IM ��1�� � �[� :ms 200 
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�05

��
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b
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 %�1��20  
*����# �������� TCP � ! WR)��  � ��������S�� ����� 	
� X8 "�

�  

  

2.3.3.2  a �
��b� ������S� W�R-�8 #*���� ���TCP  

 �)���� D�6� Q$ @ 3��TCP ������� ��$3^ �D��$ %&��: C?3v�� ?.0� (ISP) � j)&#��&)� ��$3g� ,�$3': Q:>�� 
����0� J)4 ?.L5�� �a������ Q$ ?.0� D�34- �������� ,�)��: Q:>�� �V�(�� . %���� � 3#$ D3¡�TCP @�$�&4 

 D����� %&#���� %���� �4���ISP . � Q$ ������� �4�&T� �&&� =�>�� F�D- j�R ����3� ����0�^TCP D�6� � 
 �a���� Q$ ?.0� D�34~ �ID�6� O34 ���v �� �������� �����TCP 3(4 �B($ %� D3R ,- J)4 Ckbit/s 128 .

 H�3[ @���:!� @���IM ��1��� �[�� ����0�^ � �:�6-�ms 200� ms 700%����� ���� F�D~� ����'� =�M�  . �*�^��
g� � 3#$���v %�� ?D3#�$ ���0�� � 
;.  

3.3.3.2   �������� #*����TCP	
� h�R� W�R-�8   

 ,a�1�� j0:21� 22 �������� j�R ,�3� O3t��� ,��G�� j� {)��� K�05�� TCP �a���� ?3#� TCP Q$   
kbit/s 128���0�� � 
;g� ��3#� �Y)�� o��¶ %¶ �  . H�3[ 3v c$�kbit/s 128�� %��  OG)�� C�)��350 F%� �)���� 
 Q$ �)��Mbit/s 45 .  

 %�1�� j0:�21��~� �)��� {)��� K�05��  . H�3[ ��1��� �[� c$�ms 200 �������� c�;��: CTCP � 3#$ .P�� 
�#Y���� ���0�� � 
;g� � 3#$ F�(8���� Cf�"(�� J5[~� 3�� Q$ �0:�[ {)� K�0� .  

 %�1�� j0:�22��� K�05�� %��� %�� �)��� {) . H�3[ ��1��� �[� c$�ms 700 �������� D3¡ CF�;^- ,�3� �v C
TCP ��3'� Mbit/s 31 %�� 350�)����  . �������� F�D- �[�(�: C�#Y��$ 
;^ � 3#$ 3(4�TCP�4��� .  

 �)���� ��3#$(Mbit/s) 

|�'$  
f�"�  

d�;(�� ��4 :Mbit/s 45  
Mentat :�;�1�  
 �4��Sky X :Mbit/s 43  

@���:!� @���IM ��1�� � �[� :ms 700 
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�05

��
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 %�1��21  
#*���� �������� TCP	
� h�R� F��� � �� � ! W�R-�8   

  

 %�1��22  
 �������� #*����TCP
� � �� � ! W�R-�8 	
� h�R� "�
  

 

4.3.3.2   #*���� ��������TCP������S�� ����� 	
� X8 W�R-�8   

 ,a�1�� �i�:23� 24U! �������� ����� �P�i! ��s� ��01��  . %�1�� j0:23 H�3[ ��1��� �[�� {)��� K�05��   
ms 200�1�� ��#: jv � C %24 H�3[ ��1��� �[� _`��� ms 700.  

������ d�;(�� ��4 %$�� ��&#���� �)����)� ������*�� ����� �&�� C%���� �)�� ���� �- ��~� �)�� ���� F���� .
 ��(� f�"(�� 3�)� @����- @as�� F�D~� ,��: Cj����� ��)���280�)����  .  

�a������ D34 

f�"� 

10-7BER   

;g� �934 
10-6BER  

10-8BER   
 10-5BER 
 

�a������ D34  

f�"� 

BER
 

10-7 

;g� �934 
10-6 BER  

10-8 BER  
 10-5 BER 
 

3#$�)���� � :kbit/s 128  
d�;(�� ��4 :Mbit/s 45  
��1�� � �[� :ms 200  
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�05

��
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b
it
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)

 

45,60 

40,75 

35,88 

31,02 

26,16 

2130 

16,44 

11,58 

6,72 

1,86 

�)���� �3#$ :kbit/s 128  
d�;(�� ��4 :Mbit/s 45  

@���:!� @���IM ��1�� � �[� :ms 700  
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 ?�'Y��� ����'$�3.3.3.2*�� ����� �P��  l��': @�(�R ������%100 �)0: �$V��� � ?���^ �3#$ c$ C{)��� K�05�� Q$ 
%10)  ���0�� � 
;^ �0�� z��;: �$BER �I�3[  1×5-10  Q$ OV�� 1500��:��  .( ����� �P�� C%���� ��01� �0�(����

� C�ZYt($ ���0�� � 
;^ � 3#$ 3(4 {)��� d�;(�� ��4 � ���&)$ ?D�:V ������*�� �)0: �$V��� � ?���^ �3#$
%10 F�IG� {)��� K�05�� �)0:� C350 ������*�� ����� c$ �)���� Mbit/s 33 F�IG� ����'$ Mbit/s 10 ������*� �'P 
TCPQ��  .  

 %�1��23  
 �������� #*����TCP � �� � ! W�R-�8 X8 F���	
� ������S�� �����   

 

f�"� 

BER
 

10-7 
�)���� �3#$ :kbit/s 128  
d�;(�� ��4 :Mbit/s 45  

@���:!� @���IM ��1�� � �[� :ms 700  
 �4��SkyX :Mbit/s 43 


;g� �934 
10-6 BER  

10-8 BER  
 10-5 BER 
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 %�1��24  
�� #*���� ������TCP	
� X8 "�

� � �� � ! W�R-�8  ������S�� �����  

 

5.3.3.2   �������� #*����TCPF�a� #
�%-8 W�

b X8 W�R-�8   

� %��� %�� ?GY[ �)������ *#� C%��� *4 ������� �$3g D��$ z:�k Q4 j)���� ������� {)&#��$ F�D
� z)#�: �&�P� {�
O3t�� U! %5�� ����� � �����~� ��01�� 3#� �&�P *#� . O�vDV� Q4 �A�(�� ���;#�� ?���^ 26��� ,- �)����)� Q�9�

����� � �����~� ��01�� . C������� ����0�^ � �4�&� � o�;�� %&#��$ �BB6��: S�� dD- ?��5� o��"�� �6>&(��
934 %���� �)�� U! �)������ ��'� H�3[ ��1��� �[� c$ ?���g� �ms 500 ��1��� �[�� �����- ��0� .�$ c$ �0��$ C

 H�3[ms 200�Y)�� 
;^ � 3#$�  .%���� �)���� µ��6 J)4 ������*�� ������ 36���� C����0�^ � H>I �� .
 �������� %&#��:�TCPO3t�� j� �����~� ��01��� �9 f>�� �)������ FG� f���#��  K��6 J)4 ������*�� ������ 

O3t�� .  

 %�1�� � j0$ �I �&��25 F�(8���� C@�0:�'� q�;r� D�6� O34 c$ �)$�� �B�4�� J)4 F�'���� ������*�� ����� �&�� C
�#Y��$ OV� ?���^ � 3#$ J)4 . %�1�� ����'$ 3(4�25 j)�1��� 22� 24 K)L��� J)4 ?�D�[ ������*�� ����� ,- �Z�: 

�����~� ��01�� �)�� J)4 OV��� ?���^ �"#$� ��1�� � �[� � =�>�� %���� �)���� � F�;^~�� ,�&��� J)4 .  

f�"� 

BER
 

10-7 
�)���� �3#$ :kbit/s 128  
d�;(�� ��4 :Mbit/s 45  

Mentat :�;�1�  
@���:!� @���IM ��1�� � �[� :ms 700  

 �4��Sky X :Mbit/s 43  


;g� �934 
10-6 BER  

10-8 BER  
 10-5 BER 
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 %�1��25  
 �������� #*����TCP � �� � ! W�R-�8  F��� �� �
� ����8  

������S�� ����� 	
� X8  
  

  

4.3.2  #
.
�,��N�  

_`��� j0�������*�� ����� ��G�B� ,- ��0�^ � �>I / Q$ ����)� �)$��� ��6��� K�0� Q�R ,- c�;��� �)������ z)P
 �������� ��TCP F�IG� @�:���$ �- %[- �I��1��� �[� ,��: S�� %���� �a���� J)4 ms 700 . ����0�^ � j0� �&�

 �������� K�0� ,-TCP�� �)�� ���� ���k �s
�:    ���0�� � 
;g� �0BER Q$ %ZP- 7-10.  

3   �������� ����TCP "�

� ���= � ! ATM  

 ?�'Y�� m5�1.3��0:�� ��0� �a��1�� �x��  . ?�'Y�� O3'��2.3 K�0� _`��� TCP O�'� %���� ��0� J)4 |�': �$3(4 
 Q$�G�$ ./ %'� l�)�- J)4ATM�£  . ?�'Y�� ±[�(��3.3 �������� ��)� TCP$3(4  �Z:�4 ��0� @���(�� %��� �

 J)4 O�': %���� d�;(��ATM�:���L�6 ���s! %8$ �4���� ����4 ���� ���0� c$  . ?�'Y�� �t)��4.3 ��6��(�� � 
������� H>I �B��! %���� S�� .  

1.3  ������ � ����  

 %�1�� j0:26 ��0� �a��1� ATM°���: �4���� b�4 %����  �f��� .� ������� H>e� j�;� K���� ´ C����1�
 Q$ {`��} j�D�G$ ����m 7 � �5� � ��£� ���������� ���0�� 3B#$ � ETRI Q$ {`��}� C�:��� � m 5 � 

 ��0���� ��£ G��$CRLb����� J)4 C,������ �  . �)��� ����`��� ��Y����� {): �&�P D���ATM������: � %���� �:���
 3(4Mbit/s 155 :  
 � %����� :Mukungwha-3  
 � DD���� d�;� :?34�5�� �)���� :GHz 31-27,5 �;��e� �)���� CGHz 21,2-17,7 

 �  �)'(�$ ��6�� ���0�
� *�&)� ?�3[ J5[-TWAT :W 125 

 �  ��v�(��� �xP���� �#1�� ?�3'��e.i.r.p.)( �:D�#�� )Mukungwha-3 :(dBW 71 

f�"� 

BER
 

10-7 

;g� �934 
10-6 BER  

10-8 BER  
 10-5 BER  

 

�a������ D34  

�)���� �3#$ :kbit/s 128  
d�;(�� ��4 :Mbit/s 45  

Mentat :�;�1�  
@���:!� @���IM ��1�� � �[� :ms 700  

 �4��SkyX :Mbit/s 43  
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 � � ?����� �6�D U! K���� �0�� O�"()� �xP���G/T)  ��Y�� � �:��V45◦:( %��1� 32 dB/k) ½D- 3��( 
 �  ������ l��'� %��1� ���V!- 8 TC ��;�� �vGvG� d���! PSK 

 � .Y1��� :7 = K C8/7 3:� ?�Y� –��Y�Pa� ,�$����  

 � ���0�� �3#$ :Mbit/s 155,52 

 � �V��� d�;(�� ��4 : Q$ ,���([MHz 80 

 %�1��26  
 "������4
�
��� ��
>��� ���={�A�����  

  

 j��0� U! �I��
� ��01�� ���'� Q�9�–�4�P ��0�  �����- ��0�� �:���L�6 �ATM OC-3 %���� �)�� Q&Z�� 
GSO . �:���L�6 ��0� l�� ��� �;�� 3v�� ,� � ?D�G�� ��5t1�� K������ J)4 ?D�6��� ��4�Y�� @��(�� %���

 ��0� l���ATMj��01�  . �#����� �L�5�� Q$ ������� �������� Q:��(#� ��0:����� ��01�� %��1� ´�(IPv4) 
�� ��D���� �L�5�� Q$ ������� �������(IPv6) . l�)�- J)4 �&`�'�� %���� ��01�� %&#����ATM ���� %6- Q$ 

 ����!MPEG.  

 ��'�0;��� Q$ j;� %6- Q$�– {)#Y�� �[��� � f�:3�Y�� ������� ������� *4 ������ – J)4 O�'� ��0� F�1�! ´ 
 l�)�-ATM������� H>I %6- Q$  .� j0: ,a�1�27� 28��0:����� ��01�� �������� ���3�� ��)�5Y��� �a��1���  .  

��Y$  
 l�����
{5t1��

��0�  
�:���L�6 

m��$ m��$ 

�Y1$ �Y1$ 

l�[�$ l�[�$ 

{`��I {`��I 
%:30� 

OD�$ 



   �������ITU-R S.1711  42

 %�1��27  

���A�>��� ������ � ����  

  

 %�1��28  
 �������� #
�R� Y�B8 $A�? 7! I
o�,�� � ��8 ���A�T ���=PC  

  

2.3   �������� ����TCP �� �� � ! L3J +�3� "�

� ���= � ! ATM  

 �������� K�0� |��[ ��~� O�'�� � ´TCP ��£ ��0� J)4 ATM %��� J)4 @���:!� @���IM ��1��� �[� c$ GSO H�3[ 
ms 540 . zY(�� l�)�- %&#����IPv6/IPv4 �L�5�� ,~ IPv6 J)4 ������� �������� � ATM%$����� �'0;$ Q�� w  .

 %�1�� � j0��29 zY(�� l�)�
� ������*�� ��3� IPv4/IPv6 l�)�- J)4 O�': %���� ��0� J)4 ATM .  

 
{5t� l���v ��Y$ 

%���� �)�� 

��� �;� 

��� �;� 

%:30� 

{5t� l���v ��Y$ {5t� l���v ��Y$ 

%��$ %0'��$ 

f3�)'� f3�)'� f3�)'� 
zY(�� l�)�- zY(�� l�)�- 

 ��� �;�
 �:���L�6
���s � 

 ��� �;�
 �:���L�6
���s � 

��� �;� 
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 %�1��29  

 $B,�� �� �� �������� ��R�IPv4/IPv6 � ! ATM  

  

 <�5'�� ������ ?3v� 3[ �)0:MTU l�)�
� ������� �������� � ATM ?D�4 9180��:��  . 3[ �)0:�MTU � 
 zY(�� l�)�~ ��0�� �;���IPv6/IPv4 F�IV 9 160 ���-� 3[ ,~ ��:�� IPv4 �)0: 20��:��  .J5[-� �#;')� 3[ (MSS) �I 

9 100 ��:�� ) ���-� Q$ %� 3[IPv6 �������� 3[ ���-�� TCP �I 40� 20b����� J)4 ��:��  .( ���^ ��&#��� 3(4 C2�- Á !
 �������� _:�3�TCP ?>P�� 3[ c����� TCP l�)�- J)4 O�'� %���� ��0� J)4 ATM �#;')� 3[ J5[- 7Y­ CMSS 

 �������� ���� ��3'�TCP. � ������� �������� OV� m)L� �$3(4� AAL5 f�"(�� d�;(�� ��4 l��v Q�9 C
J5[~� .� D34 ,��:��b���� ��(�� J)4 �$Va�� �1�� ���: :  

  20)48)891002040208((48 =+++++−= MODPAD 

 ������*�� ���;#$ ?3v� ��&#��� 3(4 2�- jv �(PDU)�(�� ,��: _� :  

   986.0
9224

9100

)82091002040208(

1009
==

++++++
=η 

 ��5�� f�)g� �3#�� ,��:�STM-1 �r Mbit/s 149 �#P�(�� ���&�� d�;� ��4� 48 l�)�- �:a^ �� ��:�� ATM �r 
Mbit/s 134,94 . ������*� J5[~� f�"(�� d�;(�� ��4 _�(��: b������TCP01�� J)4  ��OC-3������� ��D�#��� :  

  Mbit/s05.13394.134 ≅η⋅=TCPBW 

 %�1�� j0:30 �������� K�0� TCP %������ D�3[ m)�t� )?>P�(�� �- ( ������*�TCP . %���� 3[ ,�� �&(�v�
TCP Mbit/s 6 %5���� K�05�� ,�� CMbit/s 113 c$ IPv4� Mbit/s 106  c$IPv6 . F�D~� �)��%95 ,�3� K�0� Q$ 

%���� �)B$ . K�0� |��[ ´ =�M 3#��TCP l�)�
� ��0� J)4 ATM %���� @���:!� @���IM ��1��� �[� c$ ��£ GSO 
 H�3[ms 540.  

 

��� �;� f3�)'� 3�)'�f 

zY(�� l�)�- zY(�� l�)�- 
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 %�1��30  

 �������� K���TCP �� �� � ! +�3� "�

� ����� ATM WzJ
,� �B �w ��RD X8 TCP  

  
  

3.3   �������� �� �TCP"�

� � �� 71}�� �
4
>�8 c� ���= � !   

 K�0� |��[ ´ C3#� �&�P�TCP �:���L�6 ��0� J)4 c': 35'��� �:���L�6 ��4�P ��0� J)4 c': �35�� ,�� �$3(4 
<�^- . %���� 3[ �0Z: �$3(4�TCP �r 3(4 6 ��0� J)4 ��:��  H�3[ %���� ��1��� �[� ��Mms 540 K�05�� ,�� C

 J)4 �5�': J5[~�2� 3 Mbit/s . ���v ��1� U! =�M <G#:�TCP �������� ?>P�(� .0� 3[ D3¡ �&(�v TCP 
 �&tZ�� ���01�� J)4 �`a$ K�05� ��&�)�LFN . ?>P�� 3[ ?D�:V 3(4�TCP ���� d�;(�� %$�� ��&#��  LFN �05� C

����� ���v ���TCP %��&)� fD��� ��0�� �;��� ,~ �'P3�$ ):���L�6 f-���s�� � ( ��01�� Q$ ���- ,��: �����~�
ATM .OV��� ?���^ c(� ?.0� �;��� ?���>� ������ ���Y�� D��G: ,- KW� . ?���>� ?D�G$ ./ @����v ?D�6��� ��4�Y���

 ?>P�� 3'� �&�� ¢�£ ��P�� �;���TCP.0�  .>�� �������� K�0� q�;r� U! ������ ���Y�� OV� ?���^ fDu� =�
TCP . %�1�� j0:�31 c���� �;� TCP %��� TCP . ������*� F{;� F3� yva� CU�~� °�&8�� °��8�� �a^�TCP .

 ?>P�� 3[ 3:�G� c$�TCP������ ��Y&)� �;����� ?���>�� ?�3[ V��� Q4 _�(� OV��� � ?���^ �3R C . ?���^ fDu��
������ ?D�4! � �v Q$ .0� D34 U! OV��� . �������� D��#:�TCP �):�k ?��P 3#� F{;0�� F30�� ��)� ) 3#�27����s  .(

 �>I ������ �;� ����:�)������ ?D�4!� ?���g� ( K�05� {)��� F�D~� �05:�TCP@a:GI .  

|�'�� K�05��  
f�"(�� K�05��  

%����� ��1��� �[� ,�D K�0�  
 l�)�- J)4 �#����� �L�5�� Q$ ������� ��������ATM  

 >^
$ 3[(Mbytes) TCP 

 K
�05

��
(M
b
it
/s
)
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 %�1��31  

 X�
��� L%wTCP ���) �RC' TCP  

  

1.3.3  �%����� W���z�� RD W
�
s  

>�� 3[ �:3'� Q�9?���N�� l���� z:�k Q4 ������ ��Y&)� �;����� ?��� . %&#��: f>�� ?���N� pM�� �)��1��
 %�1�� � �(�0$ ��01�� {���]$32 . d�;� ��4 J5[- D3¡ C?���N� ���/~�TCP ��0�� �:���L�6 ��0� J)4 ������ 

ATM F�IG� Mbit/s 500� Mbit/s 135b����� J)4 .  

 %�1��32  

 � ����W
�
�� /0�:  

  

 %���� ��1�� � �[�� ����'$ ��À��� �:36 �:���L�6 ��4�Y�� ��01�� ��1��� �[��GSO l�)�
� �)�� J)4 ATM 
 �#;')� 3[ J5[-�MSS ���0��� ���s � s 1430 ��D���� �L�5�� Q$ ������� �������� � (IPv6) . 3[ ,��: =�>��
 �������� ?>P��TCP�I l�);��  :  

GH3746رز
43018

540.010135

8

RTTBW
W

6

≅
×

××
=

⋅
=  

R1� R2 ��0�� �:���L�6 ��0� OV� K�0� �À ATM b����� J)4 (R1 > R2) Oa��� ����#�! �3#$ D3¡� CTCP 
 �;����R2) �^� o�k Q$ �)���� � �)�� ½D- .( F{;0�� F30�� ��k � OV��� �3#$ ,��:�R1 = 2 × R2 %��$ ,~ 

 ��������TCP Oa�� �� 3v�� ��#�! �)��: �$3(4 j�$V� %��: (ACK) . ,- ����P� J)4�Wmax ?>P�(� J5[~� 3'�� {I 
TCP� OV��� D34 _�(��: CF{;0�� F30�� F�(s- ������� ��D�#�� Q$ ������ ���Y�� ��"��� m� :  

  

222
3,

2
2,

2

2]222[]21[)(

R

W

R

T

R

T

R

T
t

tRtRRtRRtP

max

⋅
≤⋅⋅=

⋅=⋅−⋅=⋅−=

�

 

 ¢�vT �������� ?>P�� F3� �[� {I TCPF{;0�� F30�� �a^  .  

�I ��"�� � m� � OV�)� J5[~� 3'�� ,��: b������ :  

 µ�(�� �[���(s) 

 ���vTCP�:D�4   

 ���v ����! ?D�4!TCP  

%����� %0[ Q$ �()#$ ?>P��  
m
��t
�$ 
DD
��

 
(M
b
it
/s
)

 

 ?3'41   ?3'42   ��Y$2   ��Y$1  
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222

2
22

maxmaxmax W

R

W
R

R

W
P =

⋅
⋅=









⋅
 

 Oa�� �� ����#��� D34 m#i F{;0�� F30�� F�(s- %��: %���� ,- �>I �#:�ACK ��1��� �[� �a^ 2)0'��: �� ����'$ 
RTT3v��  . ?>P�(� J5[~� 3'�� m5� �I �;����� ?3'#�� ��"��� m5� �;����� ?���>)� OVa�� 3'���TCP 2�~ =�M� 

 ��1�� � �[� Q$ ��~� m5(�� �a^RTT � ��"�� � m� Â�Y: 2�XP b������ 2)��: f>�� ��3#�� m#i ���Y�� �)��: C
 ��1�� � �[� Q$ °�8�� m5(��RTT . ������*� J5[~� ������ d�;(�� ��4 ,��: �$3(4�TCP �:���L�6 ��01�� J)4 

 ��01�� J)4�ATM �I Mbit/s 500� Mbit/s 135 ��0:����� ��01)� �;����� ?���>)� OVa�� f�"(�� 3'�� �)0: Cb����� J)4   
 �r3 187�$V�  . ,a�1���33� 34?���N� ����� �À  ��01�� ��&#���� NS-2 . %�1�� j0:�33 c���� TCP ��#���� C
ACK������ ��"�� � m� � OV��� D34�  . %�1�� j0:�34������ K�0�  ��TCP %���� � U�~� �1#�� ,��8�� �a^ 

%0'���� �� . ������*� �;����� ?���>�� 3[ ,��: �$3(4 J5[~� K�05�� J)4 %5¡�TCP �r 6 374 � ,��:� �$V� 
 F�IV ������ ��Y�� � ��"�� � m5� J5[~� 3'�� �[��� =�M2 279�$V�  .  

 %�1��33  

 �������� X�
��TCP �
-=��� |L����� Yo�B'� �
(�4� U� � 71}�'� L����� R3��� +*��N
�  

  

 �[���(s) 
p�g� OV�  

Oa�� �� ��#�!  
������ 3'��  

OV
���

 



   �������ITU-R S.1711  47

 %�1��34  
 �������� K���TCP�B �w �%��� ��RD X8   

  
2.3.3  ��� ���� �����TCP "��8 ���) � ������ X8 TCP  

 S�� ����� %��1� ���� �)&#���� �:G$� �`��D ����$ �B�)4 z);:TBF)  �$3'��� ��01�� ?��D! ���Ã �43$Linux .(
 �"(:�TBF ���v ��'�� �3#$ TCP . %�1�� j0:�35 ��"��� m� F�1�! �0Z� �����~� ��&)#�� TBF . .0#��Rate 

%$ �3#$ f- V�$���� ���g� F–����� zP3�� ������ ������ �3#$ %89 �$ �I�  . ���g� 3[�Bucket size �'���� 3[ �- 
Burst Size���g� �®Gn ,- Q�9 S�� V�$��� D34 �I  .��"�� � m� 3[� ���g� 3[ ��&� {I 3�� �&)#$� . 3�� ,�� �M!�

C�Y� �I ��"�� � m� 3[� ���g� 3[ f���:�'��;�� ./ OV��� �'��  .zP3��� � ������ Q�9 �>�I� . 3�� ,�� �M!�
��"�� � m� � �'��;�� ./ OV��� 7#� ci�� ���g� 3[ Q$ *�- .  
 %�1��35  

 �
(�4� U� �
�46 L�}� ���
�a� #
1 -'�TBF  

  

 %�1�� j0:36 �������� K�0� TCP �������� ���Y$ 3[ c$ TCP %&#��: �$3(4 m)�� TBF %��$ � TCP 3[ c$ 
 ?>P��TCP H�3[ ���s Mbytes 6) �:   S�� ����� C����'&)��@�Z:- �$3'$ %����� ��1��� �[� �B�P 36 .( %�1�� j0:�37 

 fG$��� ���g� 3[)OV�(  %���� K�0�  
%0'���� K�0�  

OV���  

��3#��  
V���  

q�'�!  

  
���g� 3[  

�'��;$  OV�  

 ��"�� � m� 3[ = 3��–���g� 3[   

 K
�05

��
(M
b
it
/s
)

  

�'��;$  
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 K�0�TCP���t)� m)�� 3[ c$  . Q$ �:G$� ���^ �&���kbits 130-120K�0� %ZP- z�'���  . ���g� 3[ ,��: �&(�v�
 Q$ *�-130 �������� ���v zP3� z��k Q4 ��(� ������ ��Y�� OV� � ?���^ �3R �:���L�$ TCP.  

  

 %�1��37  

 K���TCP �w R3� �Ax8��� �4
V � U  

  

|�'�� K�05��  
f�"(�� K�05��  

%����� ��1��� �[� ,�3� K�0�  

 �������� >^
$ 3[TCP (Mbytes) 

|�'�� K�05��  
%����� ��1��� �[� ,�3� K�0�  

 fG$��� ���g� 3[(Mbytes)  

 K
�05

��
(M
b
it
/s
)

  
 K

�05
��

(M
b
it
/s
)
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4.3  #
.
�,��N�  

´ �������� K�0� |��[ TCP ������*� {)^�3�� ��)��� %�)R� TCP Q&Z�� �4���� ����4 ������$ ./ ��0� J)4 
 %���� �)��GSO .{): �&�P ������� _`��� ��t)� D�:�:  

1   ������*� K�0� J5[- %6- Q$TCP �)0: Mbit/s 155 ������*� ���Y$ 3[ OG): C%���� ��0� J)4 
TCP �r �)0: 6$ �:���L� .  

2   �35$ 36���: �$3(4TCP J)4 O�': %���� �����~� ��01�� Q$ ���- ,��: �^� ��0� ���� J)4 
 l�)�-ATM ?>P�(� .0��� 3'�� Q4 �A�(�� ����� ��'�� 7�Yt�� �&�� ����� D�6� OVa�� Q$ CTCP . �"(�� Q�9�
jÁ)v � :�- �;����� ��4��Y�� � 3'�� ?.0� �;��� ?���M �������� �35$ 3(4 ����� � ������ TCP . ���v ��

 Q4 �6�(�� OV��� ?���^ c(� ��"�� � m5� �;����� ?���>�� 3[ �:3'� ´ C�;����� ��4�Y�� � 3'�� ?.0� �;����� ?���>��
 �������� z�� ���vTCP?���N�� �B($ z'�����  .����� � ����)� ���� � �"(�� C°�8�� %��� �������� �35$ J)4 

TCP : �r H�3[ K�0� z�'R ´Mbit/s 95)  f-%95%��� ��1��� �[� ,�3� K�0� J5[- Q$ .(  

3   �������� ?>P�� _:�3� ���^�TCP >P��(� TCP F�D- j���� �&�� S�� ��)�� 3v- �I 3'�� ?.0� 
 ��������TCP %���� �)�� Q&Z�� %:�k ��1��� �[�� ���0� J)4 GSO .�� >P��� ��&#��TCP ��0� J)4 3'�� ?.0� 

 %���� �)�� Q&Z�� %:�k ��1��� �[��GSO . >P��� ��&#����TCP Q��]: %:�k ��1��� �[�� ��0� J)4 3'�� ?.0� 
 �r �v K�05��%90f�"(�� J5[~� Q$  . �������� >P��� Q��TCP.5[ �[� � z�� ���v 3��� 3'�� ?.0�  .

�v � Ä�^ %�1� 36��� � ����)� �Y)�� � �������� m)�� fD�$ ���� Q$ m�
�� S�� �������� ./ ��01�� ��
�)���� �z���� ���v Q4 ��(� ������ Â�Y�� � OV��� � ?.0� ?���^� C�'0;�� . �"(: ,- {L0(: Cci��� �>I K(����

l������� �B($ z'����� �(�� ��)v � ��01�� �&5$ .  

4   �������� ����TCP"�

� 0
B4 #
��= � !   

 �I��6- S�� ����0�^ � _`��� ��'�� �>I O3':Star One%���� � �5�a� ��):V��� ���� {I� C . ?�'Y�� m5��1.4 
����0�^ � � �)&#���� ��01�� �:��&#$ . ?�'Y�� ��#��2.4 Q&Z��� c;[ �as U! z)Y�� ��&#���� O�"(�� F�D- �����[ 

F�D~� _`��� .  

� ����`��� �;�&)� ��)N� Oa�� � ����#�! �&��Hub V�B�� VSAT  �������� F�D- j����TCP D�3v ���VX� =�M� 
?>P�(�� . K�0� ?F�Y� Q��]�� F{;0�� F30�� ���� ��)N� Oa�� � ����#�! %:G��TCP . �������� ���-� q�LZ�� mY­�

"(�� �[� ��0�^ � �>I � �)&#���� �������?F�Y��� 3:G�� O� .  

1.4  
G ����� ������ �A�
1-8  

1.1.4  ������ �A�
1-8  

 ����`� �;� J)4 O�"(�� �:��&#$ %&�1�Hub zP3� c$ ?3v�� DVB-S) p��^ ( ����$ ����#$ �)���)�)^�D .( �;N��
����� � �����- ��01� �����$ �:G���� ����`��� . %�1�� �i�:�38#���� O�"(�� �:��&#$  ���;#$ J)4 ��5�)� %&

F�D~� .  
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 ��01��38  

������ �A�
1-8  

  

2.1.4  � ������  

1.2.1.4   I�R. Wcd� ���B� ��%�� P
Gy� il
CbVSAT"�

�� il
Cb�   

 Q$ <3�� � ���� �0�(��� ,��'��$ ,a��� %&#:14 068 kHz� 14 214 kHz) ?34�� �)�� ( Q$�11 774 kHz   
 U!11 919 kHz) �;��I �)�� .(  

�$ �5($ %�� ��$�$- �)��� ?D�G$ �)&#�)�6��^ ( �I�3[48 Mbit/s� 140 ?D�4 ?�([� )�)^�D ( �I�3[76,8 kbit/s.  

 �$V �as =�M %�1:�) ?�$G��1 ?�$G��� 2 ?�$G��� 3 ( jY)�� j)��� ��&#����) %�����A %������ B ( d�;� �
 ��DD����11/14 GHz Q$ b�A! c$ 8 0006 ?.L� ���Y� ��k V�B6  @�3VSAT%:V�*�� {i��- J)4 K��]$  . �[��

 �I ����3�� 3�[ @���:!� @���IM ��1�� �ms 800 .  

{): �&�P �$G�� �`�5^ �i���:   

   ?�$G��1)  %�����A :( �sas U! �&�'$ASP ��(� 1 200 VSAT  

   ?�$G��2)  %�����A :( �sas U! �&�'$HSP ��(� 3 200 VSAT  

   ?�$G��3)  %�����B :($ �sas U! �&�'HSP ��(� 3 600 VSAT  

 �`�5^ �i���VSAT ��3�� � 14H��D- D�����  .K�� m)�� �i��� N0/Eb ��3�� � �6��^ �)�� J)4 �$Va�� 
15.  

 ��3��14  

 il
CbVSAT  

� 1-�
'� W�8x�� 9l��u� RD W�RDSSPA  
(W) 

�CDa� 9 b�R�� �R-'� 
(kbit/s) 

�CDa� 9.�
[� �R-'� 
(kbit/s) 

1 �2� 3 0,96 1 50 320  

o�;�� %&#��$  

����`��� �;N� O�"�  

 ,a���)A� B(  

OD�$  
�������  

HUB  
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 ��3��15  
�.�
[� � ���� il
Cb  
 �� ��DVB-S 

 98
8a� ���C��� K
4
Z%V �  ���Eb/N0 

(dB) 

1/2 4,5 
2/3 5,0 
3/4 5,5 
5/6 6,0 
7/8 6,4 

  

2.2.1.4  #N�����S��  
� ������*�� ����`��� �;�&)� ?34�5�� �)���� J)4 %&#���(Hub) l�� VSAT %'� zP3� �I �6��g� MPEG-2   

 J)4DVB-S �;N� � �)�1$� ������ ?D3#�$� C�Y)L$ ������� �������� OV�� CHub � 2��! ��1�� m��)� @�'P� C
 j)�1��39� 40.  

 %�1��39  
MPEG � ! DVB-S  

  

 %�1��40  
"34 $JR�MPEG-  

     

  

 ����#�� ������ ���([�)�)^�D �)�� ( ����! ���([ {IMF-TDMA U! �&�'$ C {`��14 M�Y(� ����! ���([RA 
 V��� M�Y(� ����! ���([�DA %�1�� � �BY�� D�: �&� C41.  

 ������� F��:! G��$  m�)L�IP  ����! D3#$  
MPEG-2  

DVB-S  
%�1$  

%'� zP3� 
 MPEG-2  OV�IP  

  
q��1�� M�Y(�� O�"� 

���;#$  �:�:3�P  ��#Å  3�P�:�:  

�[�;�� ��1�  ��6��^ ?�Y�   �:>1�  ��)^�D ?�Y�   d�;� %��1�
|��~�  

 %�1$
QPSK 

,�$���� 3:�  

 �#P�(�� ���&��(bytes 184)  ���-�(bytes) 
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 %�1��41  
��
�! #��,D  

  
2.4  ���a� `
�D Hl
�4  

G�� ������ |��[ %&1: �$1� 2� 3 . j��$G�� <�� ������ O34 |��[ %&1:  �2� 3.  

1.2.4  �
����  
 ��3�� j0:16 Q$ �B� %� �a^ �:��� o��"�� �`�� �- �;�� Q4 �6�(�� O�"(�� ���� O34 �- ����� ?�$V %�� ������ 

 O�42003 .  

 ��3��16  
/�
[� +
(,�� �
��  

�8x�� +
(,�� 

�G��� 
 W�8x��1  W�8x��2  W�8x��3 

 �
����) |�%'�
�6 |������( 

 �
���� +R!
) |������ |�%'�

�6( 

 �
���� +R!) |�%'�
�6 |������ (

 �!

��) �G= 78
�bm( 

 �
����) |�%'�
�6 |������ (

 �!

��) �G= 78
�bm( 

�:�(: 100,0 99,0 N/A 98,6 1,4 10,416 733,584 
�:�*P 100,0 100,0 N/A 98,9 1,1 7,392 664,608 
|��$ 99,9 100,0 N/A 99,8 0,2 1,488 742,512 
%:��- 100,0 100,0 N/A 100,0 0,0 0,000 744,000 
�:�$ 100,0 100,0 99,9 100,0 0,0 0,000 720,000 
2���: 100,0 100,0 99,9 100,0 0,0 0,000 744,000 
����: 100,0 100,0 100,0 100,0 0,0 0,000 720,000 

º;�/- 100,0 100,0 100,0 100,0 0,0 0,000 744,000 
*&�0� 100,0 100,0 100,0 100,0 0,0 0,000 720,000 
�����- 99,9 99,9 99,9 100,0 0,0 0,000 744,000 
*&P�� 100,0 99,9 100,0 99,9 0,1 0,720 719,280 
*&�:D 100,0 100,0 100,0 99,9 0,1 0,744 743,256 

f�(��� ������ 100,0 99,9 100,0 99,8 0,2 1,730 728,270 
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 %�1�� j0:42 ?�$G�� ���� 2 %&#��� S�� 3 200 VSAT %������ A Q$ �B� %� � �:��� o��")� ����(� C  
 O�42003.  

 %�1��42  
 �.�
[� W�8x�� �
�� - 2 "�

��A  

  
�:�(:  |��$  �:�$  ����:  *&�0�  *&P��  

�B1��  

 ��
����
 �

[�
(%
)
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 %�1�� j0:43 ?�$G�� ���� 3 %&#��� S�� 3 600 VSAT %������ B U! �:�$ Q$ �:��� o��"�� �`��� �;&)� ����(� C
 O�4 *&�:D2003.  

 %�1��43  
 W�8x�� �
��3 �.�
[� – "�

�� B  

  

�:�$  ����:  ����:  º;�/-  *&�0�  �����-  *&P��  *&�:D  
�B1��  

 ��
����
 �

[�
(%
)
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 %�1�� j0:44 p��g� O�"(�� ���� (VSAT 8 000) j)����� %&#��: f>�� A� B���(�  � �:��� o��"�� �`��� �;&)� �
 O�4 Q$ �B� %�2003.  

 %�1��44  

/�
[� +
(,�� �
�� 

  

�:�(:  |��$  �:�$  ����:  *&�0�  *&P��  
�B1��  

 ��
����
 �

[�
(%
)
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2.2.4  K��C��  
 ��3�� j0:17 ?�$G�� K�0� 2 G���� %��� ��#$� HSP �r <�6-� �} Ä�g� 200 �:�*P O�:- Q$ O�: %� @����[ 2004 .

 J5[~� K�05�� �)��319,11 kbit/s.  

 ��3��17  
 W�8x � L���'� K��C��2  

 �%���8 �1�D(kbit/s) 9-.�'� �A�
��� 
 W�8x��2 HSP 1 HSP 2 HSP 3 

02/01/04 314,14 314,96 313,13 314,32 
02/02/04 307,66 314,31 303,18 305,49 
02/03/04 306,35 312,83 303,72 302,51 
02/04/04 306,85 313,92 303,61 303,02 
02/05/04 304,75 308,57 303,19 302,48 
02/06/04 303,58 306,76 305,28 298,70 
02/07/04 310,87 311,00 309,50 312,10 
02/08/04 314,78 316,82 311,92 315,60 
02/09/04 303,58 305,23 304,28 301,23 
02/10/04 302,13 304,34 301,11 300,93 
02/11/04 302,33 304,77 299,06 303,16 
02/12/04 313,03 312,16 316,88 310,04 
02/13/04 306,89 304,71 312,99 302,97 
02/14/04 311,65 311,76 316,49 306,69 
02/15/04 319,11 317,44 321,36 318,52 
02/16/04 305,80 307,72 309,28 300,40 
02/17/04 313,06 313,62 316,66 308,90 
02/18/04 306,48 305,78 310,73 302,93 
02/19/04 312,25 304,46 308,19 324,09 
02/20/04 303,92 304,96 305,54 301,26 
02/21/04 311,64 313,07 311,59 310,25 
02/22/04 314,45 316,07 312,51 314,77 
02/23/04 311,23 312,86 310,76 310,08 
02/24/04 312,89 313,44 313,04 312,19 
02/25/04 306,45 307,98 304,75 306,63 
02/26/04 303,26 304,03 301,08 304,68 
02/27/04 304,36 306,54 304,20 302,35 
02/28/04 312,95 314,71 313,99 310,15 
02/29/04 313,78 314,66 313,43 313,26 
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 ��3�� j0:18 ?�$G�� K�0� 3 ��#$� HSP�} Ä�g�  . �r <�6-�200 �:�*P O�:- Q$ O�: %� @����[ 2004 . �)��
 J5[~� K�05��262,35 kbit/s.  

 ��3��18  
 W�8x�� K���3  

1�D �%���8 �(kbit/s) 9-.�'� �A�
��� 
 W�8x��3 HSP 1 HSP 2 HSP 3 HSP 4 

02/01/04 255,55 250,85 256,56 263,72 263,72 

02/02/04 253,18 244,96 252,73 267,17 267,17 

02/03/04 248,84 242,61 248,14 261,28 261,28 

02/04/04 247,09 241,08 245,35 255,85 255,85 

02/05/04 250,08 245,11 247,89 263,84 263,84 

02/06/04 247,32 240,75 244,80 259,46 259,46 

02/07/04 249,72 243,19 247,17 267,40 267,40 

02/08/04 249,80 242,75 249,98 266,99 266,99 

02/09/04 253,24 244,22 248,74 274,18 274,18 

02/10/04 247,89 237,55 245,33 267,71 267,71 

02/11/04 253,98 247,96 252,15 266,42 266,42 

02/12/04 254,68 246,75 253,03 272,60 272,60 

02/13/04 254,59 248,29 252,55 266,69 266,69 

02/14/04 262,35 256,94 259,45 282,42 282,42 

02/15/04 256,41 250,58 256,43 270,07 270,07 

02/16/04 256,46 248,50 256,95 265,66 265,66 

02/17/04 256,73 247,34 256,32 270,59 270,59 

02/18/04 252,14 244,07 249,90 266,22 266,22 

02/19/04 253,13 246,87 253,71 264,87 264,87 

02/20/04 250,83 243,26 244,38 270,81 270,81 

02/21/04 256,81 256,27 252,30 264,39 264,39 

02/22/04 254,83 253,47 254,08 263,59 263,59 

02/23/04 258,27 251,77 256,24 275,64 275,64 

02/24/04 259,50 256,27 254,82 276,89 276,89 

02/25/04 252,52 246,91 247,29 267,84 267,84 

02/26/04 246,89 246,56 245,30 250,36 250,36 

02/27/04 243,98 240,79 241,94 249,46 249,46 

02/28/04 254,07 246,89 249,99 270,75 270,75 

02/29/04 257,48 252,96 256,60 272,69 272,69 
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3.2.4  ���g�  
 ��3�� j0:12 ?�$G)� ��)��� �)^�3�� ����� 2 �:�*P O�:- Q$ O�: %� �B���[ <�6 S�� 2004.  

 ��3��19  
 W�8x�� ���)2  

�g��� ��� ��/ I
�8�A(Gbyte) 9-.�'� �A�
��� 
 W�8x��2 HSP 1 HSP 2 HSP 3 

02/01/04 4,158 3,787 4,198 4,488 

02/02/04 7,566 7,052 8,095 7,552 

02/03/04 7,346 7,568 7,059 7,412 

02/04/04 7,241 7,302 6,575 7,844 

02/05/04 7,160 6,925 7,050 7,505 

02/06/04 7,483 7,031 7,978 7,440 

02/07/04 4,582 4,001 4,269 5,476 

02/08/04 3,648 3,303 3,801 3,840 

02/09/04 7,243 7,187 7,635 6,906 

02/10/04 7,418 6,823 7,754 7,676 

02/11/04 6,979 7,322 6,619 6,996 

02/12/04 7,650 7,267 7,972 7,712 

02/13/04 7,050 6,759 6,995 7,396 

02/14/04 4,660 4,348 4,131 5,500 

02/15/04 3,729 3,339 3,849 3,998 

02/16/04 7,438 6,639 7,681 7,993 

02/17/04 7,295 6,600 7,337 7,947 

02/18/04 6,911 6,977 6,817 6,939 

02/19/04 7,137 6,618 7,192 7,600 

02/20/04 7,158 6,240 7,570 7,666 

02/21/04 4,698 4,521 5,250 4,324 

02/22/04 3,558 3,146 3,899 3,629 

02/23/04 4,873 4,442 5,420 4,758 

02/24/04 4,212 3,920 4,059 4,658 

02/25/04 6,351 5,895 7,072 6,086 

02/26/04 7,020 6,205 7,200 7,654 

02/27/04 7,452 7,069 7,971 7,317 

02/28/04 4,309 3,999 4,045 4,882 

02/29/04 3,961 3,638 4,733 3,513 
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 ��3�� j0:20 ?�$G)� ��)��� �)^�3�� ����� 3 �:�*P O�:- Q$ O�: %� �B���[ <�6 S�� 2004.  

 ��3��20  
 W�8x�� ���)3  

�� ��� ���g�/ I
�8�A(Gbyte) 9-.�'� �A�
��� 
 W�8x��3 HSP 1 HSP 2 HSP 3 HSP 4 

02/01/04 3,106 3,822 2,920 3,677 2,004 

02/02/04 6,159 7,339 5,982 7,229 4,084 

02/03/04 5,411 6,684 4,441 7,009 3,510 

02/04/04 6,334 7,370 6,105 7,530 4,330 

02/05/04 5,926 7,060 6,002 6,903 3,739 

02/06/04 3,738 3,769 4,280 4,239 2,663 

02/07/04 2,642 3,374 2,677 2,633 1,885 

02/08/04 4,649 5,895 4,378 5,769 2,555 

02/09/04 6,317 7,440 5,840 7,537 4,452 

02/10/04 5,403 6,229 5,175 6,431 3,777 

02/11/04 6,042 6,971 5,171 7,459 4,566 

02/12/04 5,797 6,449 5,532 6,927 4,279 

02/13/04 3,757 3,637 4,035 4,730 2,624 

02/14/04 3,052 2,790 2,984 4,229 2,208 

02/15/04 5,865 6,723 5,203 7,058 4,477 

02/16/04 5,052 6,445 3,839 5,812 4,113 

02/17/04 5,983 6,939 5,309 7,486 4,199 

02/18/04 5,730 6,297 4,864 7,332 4,428 

02/19/04 5,996 7,087 5,427 7,231 4,238 

02/20/04 3,948 3,699 3,919 4,534 3,640 

02/21/04 2,792 3,269 2,391 2,935 2,574 

02/22/04 4,155 4,041 4,269 4,330 3,978 

02/23/04 3,146 3,163 3,172 3,530 2,721 

02/24/04 5,264 5,228 5,360 6,264 4,204 

02/25/04 6,081 6,896 5,658 6,630 5,142 

02/26/04 6,202 6,964 6,342 7,218 4,282 

02/27/04 3,707 3,528 4,133 4,308 2,860 

02/28/04 3,167 3,193 2,918 3,857 2,702 
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5   $��%��� �������� `
�D) U '� "34 ��������FTP ��������� "34 9D�J i4 HTTP(  
 -3�ETRI� �:��� � CRL�4 ���;#$ ��3#� %���� ��5�a� ����1�� ������� ,������ �  O�4 � b2000 . ,�'�0;� *�^��

 ������*� ,�:3�)'�FTP – TCP� -HTTP l�)�- J)4 O�'� %���� ��0� J)4 ATM . ����! <�6�FTB� HTTP 
 %��� �;����MUKUNGWHA-3 d�;(�� � Ka.  

 ?�'Y�� m5�1.5������� F��6� ��01�� �)��1�  . ?�'Y�� O3'��2.5S�� ����0�^a� ��0:����� _`��(��  ��&#���� �:�6- 
 ������*��FTP . ?�'Y�� O3'��3.5 ������*� @�G6�$ @�v�� HTTP �:�6- S�� ����0�^a� ��0:����� _`��(�� O3'�� 

 �������� ��&#����HTTP . ?�'Y�� G6���4.5��6��(�� �  .  

1.5   "�

� ���= � ����ATM  
 %�1�� j0:45��0� �a��1�  %���� ATM °���: �4���� b�4  � f��� . j�;� K���� ´ C����1�� ������� H>e�

 Q$ {`��} ����7 m � ETRI {`��}� �:��� � 5 m � CRLb����� J)4 C,�������  . ��Y����� J)4 ��5�)��
 %���� ��01)� ����`���ATM°���:  � ?�'Y�� �"�� Cf���2.3.  

 %�1��45  
 ���= � ���� �� �� � ! +�3� "�

�ATM  

  

  

 �������� O3� K���� ´FTP����  �����HTTP � CRL {5t� l���v ��&#���� Linux . ����$ O3t�� ,���
 ��01��� ?���0$ATM . ��ETRI O�"� ��&#���� j���G)� j����v K���� ´ CWindows 2000� Linuxb����� J)4  .

���01�� ��(�0�� ��;��� Q$ p�G� D�G$ �t� l���v ��Y� �&B)���� ´� :ATM���s�� �:���L�6�  .� %���� <�6-
 l�)�- J)4 O�'� %���� ��0� �;���� O3�� �:���L�6 ��4�P ��0� j� ���ATM .  

 �������� ������ �0�(����FTP %&#��� CNCFTP 3.0 �������� ,��G� FTP� WUFTPD 2.6.1O3t&�  . �&�:
WUFTPD �������� ?>P�(� J5[~� 3'�� 3:3��� TCP%�L1��� O�"� �&�'� �0�(���  .z0;:� NCFTP ?>P�� _:�3� ���^ 
 ��������TCP.  

 �������� ������ �0�(����HTTP %&#��� CApache 1.3.12 J)4 ����#�� ��01)� O�3t&� Linux . ?>P�� 3[ �0i�
 ��������TCP 3(4 Mbytes 10 . F�D-� {)^�3�� %�L1��� �0[��$ %6- Q$�HTTP 1.0� HTTP 1.1 @������ %&#��� C

�ÁY5� :Netscape 4.77 �L�5�� Q$ Linux %6- Q$ HTTP 1.0� CWebbot 5.2.8 p���! Q$ W3C %6- Q$ HTTP 1.1 .

 O3�FTP� WEB  

Q`��V FTP� HTTP  

/RF{`��I  

OD�$  

%:30�  /RF{`��I  

 ��0�Gigabit network 

��Y$  
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 ��&#���� ,��G�� K��6 Q$ ���'(�� OV��� �;'��� C,��G�� K)k J)4 ÆF�(� K:��� ��0� ���Y� �#6���� �$3(4�
tcpdump �������� ?3v� ��&#���� 3#� �&�P ���4� HTTP Ctcptrace .º² �)&#���� ��01�� Q$ ��;� ���Y� 

 �������� ���� � ����#��HTTP ��3�� � �BY�� D�:� 21.  

 ��3��21  
��'
-�� ������ #
�B� "��
B�  

��'
-�� ������ ��B� ��
,-�� �R!  ��BC�� RD(bytes) 

China2008 30 212 207 

CRL 21 80 333 

FIFA 33 176 105 

LionKing 16 393 672 

RBLAB 8 72 103 

2.5  FTP �������� K��� FTP "�

� � �� � ! OC-3  
 �)���� K�0� |��[ �I o3e� ,��FTP J)4 O�'� %���� �)�� J)4 ATM . K�0� |��[ ´ C����'�� %�B����FTP J)4 

 �I�3[ �)��Mbit/s 155 H�3[ K�0� J)4 ��5�� ´� h@�Z:- ��1��� �[� ,�3� Mbit/s 118,32 �)0: >^
$ 3[ c$ 
Kbytes 64)  f-%87,5f�"(�� K�05�� Q$  .( �)0: m)$ 3[ �(i��P� �M!�Mbytes 92,1 K�0� |��[ ´ 2�XP CFTP 3#� 

 �������� %��� �;����� ?���>�� 3[ .�L�TCP . %�1�� j0:�46 �������� K�0� FTP %���� �)�� ?���� ��&#���� 
��'�'v �)���.  

�1�� %46  
 �������� K���FTP #�0 "�

� ���= � ! Mbit/s 155  

  
�0� ���v �� �������� KFTP ��&#��� %8$ K�05�� F�D- J)4 ?.8� %$��4 �su� CCPU%^D� C/ ��5n� Ä�'�� p�^

Ä�'�� fGY�� ��01�� fGYN ��)^�3�� ?���>�� . ,a�1�� j0:�47� 48 �������� �[� c���� ��;;� TCP ?>P��� 
 �������� O�vDV�TCP %��� �;����� ?���>�� 3'� b����� J)4 TCP�3[  HMbytes 1 . °��8�� �a^�38 f�W CU�~� 

 ������ ?D�4! �0);� ���;#�� � ?���g� 7#� �s3v =�M 3#� C�:D�4 �':�;� m)�� %'�) �������� ��D- ¢�vTCP 
��01�� O�vDV� U! fG#� OV��� ?���^ ,
� .( %�1�� ��48 �������� O�vDV� ���� 7Yn TCPm5(�� ��3'� ?>P�(�� 3[  .

� %�1�� j0:47 3#� �^� F{;� F3� 38����s  .?31� @�;�($ {)��� K�05�� ,�� =�>� ����(�� . ���v � �3W Cb������

 K
�05

��
(M
bi
t/
s)

 

4,0 

3,0 

2,0 

1,0 

0,0 
0,5 1,5 2,5 3,5 

 ���^ 3[TCP (Mbytes)  

%&#$ � �B���[ <�6  
%���� ��0�  
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 ������*� fD�#�� %�L1���FTP %��� �;��� ?���>� TCP c:V�� %8$ <�^- D���$� ��&)#$ O�"� %��1� C3'�� .0� 
%^3� ?���>��/��01�� GY� o�':!� Ä�'�� p�^ .  

�� %�147  
 �������� OD� X�
��� L%wTCP  

) ������*� �;����� ?���>�� 3[TCP = Mbyte 1(  

  

 %�1��48  
������� +
)�P� WzJ
,� L%w �TCP  

) ������*� �;����� ?���>�� 3[TCP = Mbyte 1(  

  

3.5   �������� K���HTTP

� � �� � !  "�OC-3  

1.3.5   ��������HTTP 1.0W�1�
8 c� #*�����   
 �������� ���v �HTTP 1.0 �)���� D�6� f���Z�� Q$ CK:��� ��0� Q$ �)$�� ��Y� %�&���� TCP �)5Y($ 

 �������� Q$ {� %� ��6��� HTTPK:��� ��0� Q$ ��Y� J)4 D���  .�1�� j0:� %49 j� �a4�Y��� ,��V O�3�� 
HTTP 1.0F���- �sas K:��� ��0� Q$ ��Y� Q&Z�� �&(�v  . |��~� ��Y� %'(��HTML �)���� �;����  ������*�

TCP . �������� �)���� z)L� =�M 3#��TCP ?3:36 �a���� �sas 
1(�� TCP fV���� %�&���� %6- Q$ @�#$ ,� � 

 c
����
�� m

��R
(M
b
it
/s
)

  

 µ�(�� �[���(s) 

 �'
)#�
� �

��;
#��

(b
y
te
s)

  

�')#�� ���;#��  

 µ�(�� �[���(s) 
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0���� �sa8�� F������B(�� �&�P �; . �a���� ?34 �- �)���� J')� ¢�v C@ �#P =�M ,��:   3[�TCP J)4 @��P�i! 
04 
��01�� .  

 %�1��49  
 W�1�
8 c� #*����– HTTP 1.0  

  

2.3.5   ��������HTTP 1.0 �
�b X8 "W�1�
8 � ����"  
 �������� ,�)&#��: Q:>�� j$3t�� �- �Y5��� � � 7#� �43�HTTP 1.0 ���^ "?�&���� �)������ " J)4 K)L�)� =�M�

Ha4- ?���>�� ?F�Y��� U! ��'�P � 26�- . �)���� �':�;�� H>I %&#����TCP ������*� ?D3#�$ ��0)k %&� ?3v�� 
HTTP . �a���� ?34 F�1�! c�;��� ���g� �>I %&#��� S�� �Y5��� � � ,- Á !TCP . %�1�� j0:�50 �)���� %�L1� 
HTTP ���Ã ����5$ "?�&���� �)������ ." �)���� ��- �;���� �sa8�� F���~� Q$ F{�� �����~� �'�s��� %'(��TCP . �$-

���� z:�k Q4 �&B)'� ���P ,��^�� ,�x�1�� j�)TCPj�3:36  .  

 %�1��50  
 �
�b"W�1�
8 � ���� "– HTTP 1.0  

  

3.3.5   ��������HTTP 1.1h�R� /78�x�8 z�B,�  #
� % �(pipelining) 

 3:3&���"�&��$ %���� " �I �������� � 2Y:�#� z0� C�&���� %������ Q$ %��HTTP 1.1 . �a������ �&���
?D3#�$ ��0);� ?�&���� . �)���� � ������ � D�� ,- Q�9�TCP �a���� K);��  � ?3v�� TCP?D3#�$  . Q���:�

 F�D-HTTP3[ f>�� F{;0�� F30)� ���k- ?34 ��v o�Y�� �� �&�: 2�~ ?�&��$ �)����� =�M  �� �3¡  . %�1�� j0:�
51 ���� HTTP 1.1?�&��$ �)�����  .%�a� � F���~� �Y)�� %'(�� . |��~� �'�s� ���v ��HTLM C�sa8�� F���~�� 

 {Y��RTT 4 F����� ��0)k ?34 ����! D3#� ,�3� pipelining.  

O3t�� ,��G�� 

O3t�� ,��G�� 
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 %�1��51  

#
� % � 78�x�8 z�B,� h�R�  

  
  

4.3.5   ��������HTTP 1.1 #
� % � 78�x�8 z�B,� X8 (pipelining) 

 �������� �&�:HTTP 1.1������� ��"��� ,�D %��� ,
� ?D3#��� ��0);)� C��0);)� Q$�G�$ >�Y(� c$  . ��&#��� Q�9�
#�� K(��� ��0);)� Q$�G��� >�Y(��� ��6���� j� �v���� �[� %:G: 2�~ F�D~� j�R� @���:!� @���IM ��1�� � ��[�- Q$ 3:3

b����� F���~�.  

 %�1�� �i�:�52 �������� ��&#���� %�&#��� ,��G�� j� �a4�Y��� HTTP 1.1��0);)� Q$�G�$ >�Y(� c$  . �'�s� %'(��
 �������� �)���� z:�k Q4 F���- �sas� |��~�TCP?3v�� .  

 %�1��52  

#
� % � 78�x�8 z�B,� X8  

  

  

  

  

  

  

  

5.3.5  �
��bN� Hl
�4  

 ������*� ��� ?34 ��&#���� %���� ��0� *4 K:��� ���Y� ��6���� F�D- |��[ �I {���~� ��L�� ,��HTTP .
 ��3�� G6�:�22 �������� %'� _`��� HTTPY� º² %6- Q$ %���� ��0� *4 ��#6�$ ��� . %6�� %&#��� �$3(4�

 c����)� @�36 c:��(Webbot) �)�� F�1�! ´ TCP �'P ?3v�� ) �������� p��¡HTTP 1.1 �)���� U! TCP ?3v�� 
�'P .( %&#��� �$3(4�Netscape �a���� D34 ,�� CTCPK:��� ��Y5� �;0���� ���(#�� D34 z��;: �x1�- S��  . ��

 �������� ���vHTTP 1.0 �)���� %� *�#� CTCP<�^~� Q4 �)'��$  . �)���� %� ,- C�#: �>I�TCP F3� ���� z0;� 
O�vDV � K(�� F{;� . �������� %&#��� �$3(4�HTTP 1.0 ���(#��� K:��� ��Y� %'(� *�- ?3���� OV��� D34 ,�� 

��%�&# O3t�� 

%�&#�� O3t�� 
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�} �;0���� . �������� ���v � %[- ������a� {)��� �[��� ,���HTTP 1.1��0);)� Q$�G��� >�Y(��� ���^ ,�3�  . �>I�
 �a���� ?3#� Q�9 C��01�� � O�vDV� ��(I Q�: w �M!� C%:�k ��1��� �[�� ��0� ���v � 2�- �#:TCP ,- �($�G�$ 

 ?3v�� �)���� Q$ ����#P �8�- ,���)@�.L� ���(#�� 3[ ,��: �&(�v ���^ .(� � ��0)� K���6 ?34 ��(I ,- ./ ��&#��
 ?D3#�$ �($�G�$ �a����)@a8$ OV��� Q$ *�- D34 Q4 �6�(�� ��01�� O�vDV� CO3t�� J)4 FK#�� .(  

 ��3��22  
 �������� "34 ����HTTP  

KA��� ��B� KA��� �BC� ��k 
  #*���� �R!

TCP 
+P��� �R! 

 OD�
 ��
>��N�

 9 ���(s) 

 K��C��
 L���'�(bit/s) 

Netscape 4.77 41 655 14,764 14 373 

��0);)� Q$�G�$ >�Y(� ,�3� 1 306 21,158 10 030 
China2008 

(30 objects, 

212 207 bytes) ��0);)� Q$�G�$ >�Y(� c$ 1 318 4,363 48 638 

Netscape 4.77 22 307 8,642 9 296 

��0);)� Q$�G�$ >�Y(� ,�3� 1 133 13,547 5 930 
CRL 

(21 objects, 

80 333 bytes) ��0);)� Q$�G�$ >�Y(� c$ 1 137 3,247 24 741 

Netscape 4.77 34 551 13,054 13 491 

��0);)� Q$�G�$ >�Y(� ,�3� 1 282 21,682 8 122 
FIFA 

(33 objects, 

176 105 bytes) ��0);)� Q$�G�$ >�Y(� c$ 1 285 4,328 40 690 

Netscape 4.77 14 660 8,277 47 562 

��0);)� Q$�G�$ >�Y(� ,�3� 1 514 12,529 31 421 
LionKing 

(16 objects, 

393 672 bytes) ��0);)� Q$�G�$ >�Y(� c$ 1 564 4,882 80 637 

Netscape 4.77 8 166 4,365 16 518 

��0);)� Q$�G�$ >�Y(� ,�3� 1 104 6,540 11 025 
RBLAB 

(8 objects, 

72 103 bytes) $�G�$ >�Y(� c$��0);)� Q 1 119 3,822 18 865 

 �$- �Y5��� ��� �35� CK:��� ��Y� K);� �$3(4�GET ������*� HTTP |��~� �'�s�� HTML . �[� 3#��
 @���:!� @���IM ��1���RTT|��~� �'�s� �)��� C . �$��- Q$ 3:G�� �Y5��� ��� �35� Ç>`3#�GET � �0��$ �5(4 %�� 

|��~� �'�s� .��^ ���v �� ������*� ��0);)� Q$�G��� >�Y(��� �HTTP 1.1 �$��~� H>I 3���� Q�9 CGET D��� 
O3t�� Q$ @�[a;�� f���� ���;#�� �:�® ��"��� U! �6��� ,�D �Y5��� ��� �;���� c6��� Oa��� . ���v ��

 ��������HTTP 1.0 �)���� È1(� CTCP�5(4 %� %'(� �)5Y($  .  
 %�1�� j0:53  ��Y5� �5(#�� %'�� �5(#�� ��6���� K)k c����RBLAB) ���(4 �#0� .( 3(0�� %891 %�1�� � 53 l (

�53 p (�} �;0���� F���~�� |��~� ��Y5� {)��� %'(�� �[� .F{� %� %'� �[� <�^~� ���(#�� m5�� . 3(0���2 �I 
�Y5��� ��� K)k J)4 ÆF�(� K:��� O3� Q$ U�~� �'�s��� .3$� �����^ �- �L�� Q4 �"(�� 7L� �)s�� %'(�� ?HTTP . ,- Á !

 �����^� �L�� J)4 m[��� %'� ��[�-� F30)� �Y)�� ��[�- �e ������� D�(0��HTTP . ���v ��HTTP 1.0)  �"��  
 %�1��51  -( �$��- ?34 �Y5��� ��� �35� C|��~� z`�s� Oa��� 3(4 CGET�~� ��Y5� �;0���� F����� |� . =�>��

 �a���� Q$ D34 
1(:TCP�5(4 %�� m)�� %���� K)k c$ ��I��� �sas � ��5�� �;����  . ��Y� %�&R 3(4�
RBLAB �������� �;���� 1.1 HTTP �5(4 Oa��� D��� ������� F���~� %'� -30: C��0);)� Q$�G��� >�Y(��� ���^ c$ 
|��~� .;)� Q$�G��� >�Y(��� ���^ ,�3���'����� F���~� %'� {B�(: w ���k <�^~� F���~� %'� -30: ,- Q�9   C��0) .

 ��������HTTP 1.1 �)���� <�� È1(:   TCP3v�� F{;� F3� <�� z);:   b������ ?3v��  .  
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 %�1��53  
 KA��� ��B�RBLAB
M��
,! "34 X�
��� L%w�   

  

 �
[��
�

(s
)

  

�5(#�� �[�  
 - (HTTP 1.0" �&���� "(netscape)  

 �
[��
�

(s
)

  
 �

[��
�

(s
)

  

�5(#�� �[�  
l (HTTP 1.1" ��0);)� Q$�G�$ >�Y(� c$ "(webbot)  

�5(#�� �[�  
p (HTTP 1.1" ��0);))� Q$�G�$ >�Y(� ,�3� "(webbot)  
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�� >�Y(��� ���^ ,��: �&(�v�3�v� �)�� %'� ���8� �30�� �)������ ��M � ���(4 ?34 %'(� C@�;�1� ��0);)� Q$�G� . �(���
 �&ti ��0� � @�:36 F�D- ���: ���;#�� �)A %'� ,- ?3:34 l���LFN %���� ��0� ���/ J)4 GSO . ,- b����� �30:�

 ��������HTTP 1.1 %ZP~� �I ��0);)� Q$�G��� >�Y(��� ���^ c$ ÆF�D- .  

4.5  #
.
�,��N�  
 ������*� K�0� J5[- ,��FTP �r Mbit/s 3 H�3[ ���� 3[ c$ Mbytes 1 . �)���� 3[ ���v ��TCP Q$ *�-   

1 Mbytesq�;r � U! K�05�� %�9 C .[ J)4 @����- K�05�� m[��: C%���� ?�([ *4 <�^~ ?���M Q$ %'(�� ���v �� 3
 �������� ?>P��TCP . �;����� ?���>�� 3[ ?D�:V�TCP K�0� j���� TCP F�D- q�;r� U! fDu: ,- Q�9 TCP =�M� 
%^D J)4 .s
����/?���>�� O�"� J)4 .s
��� �- Ä�'�� p�^ .  

 K�0� |��'� ������HTTP �������� ,- 36� CD3#�$ HTTP 1.1- F�D- Q4 �Y�- ��0);)� Q$�G�$ >�Y(� c$ %ZP .  

__________ 


